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PART -1/ ¥IFT - 1

CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.

A& : frefafiaa g9 (7. 9@ 1 @ 30) 3 ST &7 & 1070 Qe/qad 39ga [aeheyq giagi

1. A teacher notices that one of her students is highly distractible and has trouble paying attention
during class. Which of the following strategies would is an effective strategy in helping the student
stay focused ?

1)
(2)
®)
(

4)

Strictly telling the student to increase their attention span.
Giving a timer to student for self-regulation and time-management.
Calling the parents and taking strict disciplinary action against the student.

Giving the student repeated tasks to do during class.

e Tiferent =1 Aifeq foman o SRt e B Tty fa=ford ® o1k S8 e % SRE &9 o § el =it
¥ ffafed § 9 S 9t WG 31 61 Shigd w1 H Heg Hd & T T g WAl 8l ?

B Dl G&A W T STHE AATY g o fow FHan|

- 3R ga-gevH & fau S &l 2 31|
ATt 1 Feh B & Faah T& STREAHS HRAT S|
BT I FHET F IRE TR-IR FA & ¢ Hrf 01

2.  Jean Piaget believed that knowledge is :

(1) innate and given rather than acquired through interactions.

(2) co-constructed in interactions with more knowledgeable others.

(3) a visible behavioural change that can be measured with reliability.

(4) constructed by the child rather than being passed passively from the environment.
ST st &t AT o o 9 R

(1) ia:fsransti o ATead | UH T o oS ST SR S ot Biar € |

(2) 3IfYsh SHHR 3197 <l o 91 aa=a ¥ 98- AfHd S g1

T g9 EeR IRed § o fagagiean & are ardan < gehal |

yierer ¥ faferg w9 @ wiftd 81 & somg o= g fafda foman sman 21
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3.  According to Jean Piaget the ability to use symbols for symbols such as letting the letter X stand for
an unknown numeral develops during and enables the children to learn

(1) concrete operational stage; conservation and seriation
(2) formal operational stage; algebra and calculus

(3) formal operational stage; conservation and seriation
(4) concrete operational stage; algebra and calculus

St foemst o STIER fogi o fore for=si =1 TN 3 i &l S8 foh 318K X 1 31914 3feh o fore 7 &t
SRl o S fokfad Bt © iR fornfafai =i e § 9em oA

(1) T AfshaTcTe STae; HEm 3R shusgal

(2) SAv=ies Hihareres staee; sierfr SR oM
(3) i=Teh GfsharcTe Taee; T SR shussdl
(4) T AihATcHe STarEeT; SSHTura 3fR 7o

4.  Assertion (A) :

Learning from real-life problems and concrete experiences gives the children multiple pathways
for learning and retrieving information.

Reason (R) :

Development is relatively orderly and sequential.

Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

fweA (A) :

Sfoeh Ste i FEEstl SR i sTval 9 HeH § =1 &l ST 3R SR U &7 & foag & T
e €1

<hIUT (R) :

forerTa 3TdeTeha =rafe IR T ehiHs B |
Tl fashed I |

(1)  (A) 3R (R) S Tt € AR (A) B (R) Tl AR Tl Ll © |
2) (A) T T AfHA (R) TTerd 71

(3)  (A) 3R (R) SHI Terd 1

4) (A) 3R (R) I T T IR (A) T (R) T AR HIl |

2

4
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5.  Which of the following best describes the role of the teacher in progressive education ?

(1) The teacher provides diverse materials for children to experiment and provides scaffolding
as and when required.

(2) The teacher is responsible for ensuring strict adherence to curriculum standards.
(8) The teacher lets the children learn independently and does not interfere in their learning.

(4) The teacher is the primary source of knowledge and authority in the classroom.

frefafad 5 § &1 wfaeia fen § fuae ot fte w1 9e8 s1=e1 9ui & § 2

(1) Toeren =i 1 9A0 o & foae fafay A ge@ & © 3iR STevashal 987 W ST T8 L
S|

(2) Toreres ure==l AR 1 FeE ¥ e HvEd w0 % foau fer 7
(3) Toark o=l &l WA €9 § HEd @ 3R Ik e § FRA T8 H
(4) Torerer shan & 9 SR WRR 1 Wi Eid ¥

6.  Which of the following characterise the process of socialization ?
(a) Itis a linear process. (b) Itis a complex process.

(c) Itis a multidimensional process. (d) It takes place uniquely in different cultures.

1) (b) (9 (2)  (b), () (d) ©®) @, ()@ @ @ (@, b)
frefafed § 9 o9 91 9HSIRr i gfshar st fagan § 2
(a) T8 T TEH UlRAT T (b) T8 T e Hisha B
(c) T U g Uik 7 (d) e fafus gemfaal | faftm &9 9 &t 2
1) (b) (9 (2)  (b), () (d) ®) @, )@ d @ (@, b)

7. Which of the following does not exemplify an inclusive classroom ?

(1) Following reasonable accommodation
(2) Offering differentiated instruction
(3) Encouraging competitive ethos

(4) Incorporation of diverse perspectives

frefafea & @ ®F T THEEl we o 3R A6 § 2

(1) 3fua FEERE 1 aed

(2) fasfed fdw <

(3) fqeet TR I YredTied
(4) fafay g 1 qaE@
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10.

Assertion (A) :

There is no objectively definable moment when a child enters middle childhood or adolescence.
Reason (R) :

Development is continuous in nature.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

fweT (A) :

T IS SeTATCHS T &107 T Bil <ol hig sreal He Searaeey a1 feniRereen § Jagr il ¥ |
T (R) :

forerra, ypfa ® R 2ran & 1

el foshed T4 |

(1) (A) 3R (R) I &t € AfFA (A) i (R) T =A@ Tl el T

2) (A) T T AfHA (R) TTerd 71

(3)  (A) 3R (R) S Terd B

4) (A) 3R (R) I T T TR (A) T (R) T AT HIdl |

In which stage of Kohlberg’s moral development do children’s reasoning revolve around ethics of
law ?

(1) Conventional morality (2) Heteronomous morality

(3) Autonomous morality (4) Pre-conventional morality

ShIGTeRT o Hfen foshTd ot ford sTarEen & o=l o1 Teh ST i Afdehdl % 3a-FTQ AT § 7
(1) Rufe ek (2) fomm Afqwar

(3) T Hfcehd (4) qI-IRuRe A

According to Vygotsky, what is the role of the teacher in facilitating cognitive development ?
(1) To guide and support the student’s learning through scaffolding.

(2) To allow the student to learn completely independently.

(38) To give only those tasks that the student can currently do independently.

(4) To provide information and knowledge to the student.

SERTCEhT o STTAR, HMIH Taehrd Tl G o o f1ereh it =1 yfiert T 7
(1) ST % HIEAH Y BT & WG H1 AN SR qqeT |

(2) BEH T W | @A €9 Y G ot 1A S

(3) Hac I Al bl A SN faeneft adHH § T T ¥ R Gehdl €

(4) BT H TERR SR FH GG AT |
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11. Assertion (A) :
Teachers should constantly reflect on their own stereotypes and bias.

Reason (R) :

Culturally responsive teaching means that teachers are reflective.

Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AfHT (A) :

forerehl 1 PR 3T W9 o wfearear SR qaiel W fe6d S weu

<hIUT (R) :

wiepfass w4 @ IaeerEh fer w1 aef 2 o fares feidetier 2

et fashed I |

(1) (A) 3R (R) I &t € Al (A) = (R) T =A@ Tl el T

(2) (A) T2 § AfRA (R) To@ B

(3)  (A) 3R (R) ST Tord ¥

(4) (A) 3R (R) I T&I € 3R (A) T (R) HeEl AT T ¢ |

12.  Which of the following statements about adolescence is not correct ?

(1) Adolescence is generally considered to begin with puberty - the process that leads to sexual
maturity and the ability to reproduce.

(2) Adolescence is developmental transition between childhood and adulthood entailing physical,
cognitive and psychosocial changes.

(3)  Children across different cultures usher in and experience adolescence in a similar manner.

(4) Adolescence is a social construction.

forsirareen & o # frafafed § 9 i 91 wud 92 T § 2

(1)  forsiRTereen sl STHAR T Fre 1 Y& T o T 71 ST § - 98 Tk U ufshan ® s A aftgeaan
TR qecHIe i &A1 i IR o S B |

(2) ToReireRen J=e SR SEehd] & o= foshmreTs Hhav § e i, ST iR FHEmise
AREd B € |

() fafvm depfadi & o= T TAE % A fReieen § ya9 w3d € iR 38 s & ¥ |

(4) fweiRmeen T IS @ R |
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13.

14.

The central argument of Carol Gilligan’s critique of Kohlberg’s theory of moral development is
around :

(1) Overestimation of children’s moral abilities.

(2)  Use of experimental design in studying children.

(38) Educational implications of the study for school going children.

(4) Ethics of care and the feminist perspective.

SHIECTa o ek Tt o TE5Ia o il T i STAr=T o hal T © :
(1) == o Afaes gHaret i sAfaen st |

(2) o= % I H YT WY YoMt Sl SuH |

(3) e S Al Sl o TAq Teae o feres ffeaned |

(4) <@ i AfqeRar 3R e g

Assertion (A) :

Students are more likely to do well and stay in school if they have emotional attachment to their
school and believe that they matter.

Reason (R) :

Emotions play a significant role in learning.

Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

FfweA (A) :

B o 3T UG H 3R Thed B 4 W@ ohi 3Tfereh Hre § Afg SRt 3T Tohel ¥ MG ol ©
3R & 9Hd € o 31 91 WM T

<hIUT (R) :

TS Te H Hewqul fiert femdt § |

Tl fashed I |

(1) (A) 3R (R) S Tt € AR (A) B (R) Tl AR Tl Il © |
2) (A) §& T AfA (R) TeTd T

(3)  (A) 3R (R) S Terd B

(4) (A) 3R (R) I T&I € 31 (A) = (R) HEl A Ll < |

P-IT ([ RRTRT A nm 7 N



15.

16.

17.

Which of the following is a core principle of constructivist learning theory ?

(1) Learning occurs when students receive correct answers and feedback from teachers.

(2) Students construct their own knowledge through active engagement with their environment.
(8) Learning is primarily a passive process that involves receiving and memorizing information.

(4) Teachers should provide direct instruction and explicit guidance to students.

frefafad & & i |1 geEAmERE; st fagid = 4o fagia 22

(1) AT qa a1 & ST o1 1 et @ 9e 3w IR wfayfy frerdt 7

(2) T 3 AR F WY HihT Heral & WeAd § 79+ 96 1 o d ¥

() A qer w9 9 U ffeRa ufshen § e = 9m 0 $iR 918 W@ Wi ©
(4) ToeRl o SET *1 T8 FEW SR TIE ARIGEH JSM el =16l |

Sujata participates eagerly in the dance competition only because she is interested in winning the
first prize of cash. Sujata is :

(1) Extrinsically motivated (2) Mastery-Oriented learner

(38) Failure-avoiding learner (4) Intrinsically motivated

G & FIGRIRT § hael SHAT Scgehdl § YFT ol & Fi{ch 98 oG ol HUH JWRR S § & 1@t
HESE

(1) =&l €99 I 7 (2) TENd 3@ fameff ¥

(3)  3TORordl ufer foremeff 7 (4) TR 9 9 9@ 7

A middle school teacher wants to enable meaningful learning by helping students make connections
between concepts and real-world applications. Which of the following activities would be an
appropriate pedagogical strategy ?

(1) Let the students complete worksheets with multiple choice questions.
(2) Let the students learn by the method of stimulus-response conditioning.

(38) Let the students research on a current issue in small groups and present their findings to the
class.

(4) Let the students memorize terms and definitions.

T HIEAfe That frersh S Sl Heheusil IR ardafae i & STuar & ote g I § Heg Hih
i a1 9e 941 91l © | Fefatad § 9 & @ fafafy e Suge etfore oEtfa geft 2

(1) Toenfi 9 agfaeneda gl arell Rl 9o g8 L hl s |

(2) TornfeT w1 SErueh-Tfafshan STIsE i fafy g1 dEd 1 &g |

(3) BEI ®I B TR H T0TM T T INY F < AR 797 Frehe heqm # wwqd w1
(4) B e SR g 7 R T

P-XT {IARIRT DA nm 8 N



18. Work in progress Portfolios are an effective tool for formative assessment because :
(@) They involve students in the process of assessment.
(b) They offer insights about the progress of individual students.
(c) They focus mainly in the presentation of the final product.
(d) They offer tangible evidence of student learning.
1) (@ (@ @ @®O 6 @O d @ 6
eI Yedishd & faa el a6t g o1 geifa diewhiferdr Tsh gret yomedt § i -
(a) o TEAIRA St Hfshar | BTl 1 IMfHSA FA ¥ |
(b) o AT B T YA & R § TG TG A 2 |
(c) o q=F ®9 9 AfaH IR i TRfd R &1 higd L & |
(
(

d) 9B ARAH % G Fed U FQ T |
) (@), (2 (@), (b), (9 3) (@ (b), (d) 4 () (o)

19. In order to address the individual differences among learners, a teacher should :

(1) Dbe indifferent towards individual differences
(2) consider differences as obvious feature of human diversity
(3) implement a rigid and uniform curriculum for all learners

(4) acknowledge differences as abnormal and kind of deficit

Torenfefat o <= afamma faeraet &1 Faifyd e & fau T fises @l
(1) Al fHerarsti sl TsR-SITS HE1 =T

(2) Toerasti 1 A fafayd 6t et faRiedn o ®9 H T =16y

(3) @t frenfefi % faw Tk o™= iR 9HM WeEshA | T =1
(4) AU I ST 3R T YRR i HHl o T H WHHR HIAT AT

20. According to Lev-Vygotsky children benefit from the experience of interacting with
while working their zone of proximal development.

(1) more knowledgeable others; just outside
(2) the physical environment; within
(38) the physical environment; just outside

(4) more knowledgeable others; within

- AR o AR I & 91 37d:fohan & s1va @ annwifad B € SR 37 sl ol 2 a1
TS o wivguE s w e )

(1) 31fHeh SRR 3T; 99 St

(2)  Hifde SER; SR

(3)  Hifcreh ATTERYT; o9 ST

(4) AfE TP &FF; AR

P-IT ([ RRTRT A nm 9 N



21.

22.

23.

24.

Alok shows the following behaviours : Holds head in an awkward position when reading; squinting
and rubbing the eye frequently; redness/swelling of eyes; confusing letters. These can be symptoms
of potential :

(1) Language comprehension problems

(2)  Autistic spectrum disorder

(3) Communication disorder

(4) Visual problems

3Tl Frefafed saaer foam § @ Tgd 9ua fR &1 orie feufa o gehe; i@ #1 9R-aR Ger 3k
TTET; 31Tl i SATel/gei; 31aR Tea B i a1 | 98 forgeh enfara otaror & e € 2

(1) T k! HHSA 1 GHE

(2) T fashr

(3) HOUR Gl foehr

(4) e ged gHen

Asking Critical questions such as “how much and in what ways are various gender represented in
textbooks and media” would encourage :

(1) Strengthening gender constancy

(2) Reinforcing gender identity

(3) Discouraging gender role flexibility
(4) Questioning gender stereotypes

“ Tkt SR Hifean # fafim Sex @1 wiaffac fora o form e @ foran wman 87" 519 Heeergol 9
B W fohee! e firerm ?
(1) e ferd &l 7sigd &

(2) Sie 9T hl HSTEd HEAT

(3)  SieX fteht st THIa1 % dlcETEd

(4) Sie Efed T Fa IS

In a progressive classroom assessment is :

(1) Objective (2) Summative
(3) Normative (4) Dynamic

Teh JTeiier shetl H 3ot

(1) s Bar 2| (2) AT BT |
(3) TS TT B R (4) Tfeefiet ST 2|

Which of the following is an example of a question that requires students to analyze information ?
(1) What is the theme of the novel “To Kill a Mockingbird”?

(2) How does the author use symbolism in “To Kill a Mockingbird”?

(3) Who is the protagonist of “To Kill a Mockingbird”?

(4) What is the plot of the novel “To Kill a Mockingbird” ?

frafafea § 9 i 91 T T Y99 1 Serelul © TS9d STl &1 SR okl faveiour s shi STTeehdl Bt

@7

1) 2 e T i Su=m o fawe g2

) ‘'z fwa T AT § E® Tdhars & ST Y H © 2
() ‘'z fEa T AT % A S 2

(4) ‘'z fora T HifhTee’ ST 1 HAH 6 2

P-XT {IARIRT DA nm 10 N



25. Assertion (A) :

The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating 1Q.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AfmT (A) :

Tk o= fordt s ol A | oo 0 Ger S €, foetehl 1 Saq € i Sehd 9 9IRS =nfee iR
S-S T At F 1 R gohan §, e o 0 @ %9 Heg wE wifeu |

<hIUT (R) :

g = Ifg-afsr ot TAT ek T 9 F Tl AT ST Fehell B |

e fased I |

(1) (A) 3R (R) S Tt € AR (A) & (R) &t AR Tl Il 7 |

2) (A) W& ® Aferd (R) TTerd 2|

3) (A) 3R (R) T TTerd 7|

(4) (A) 3R (R) S &l § 3R (A) Tl (R) HE AT Ll € |

26. Which of the following describes a mastery goal orientation ?
(1) focus on improving ones” skills and understanding of a task.
(2) focus on achieving a high grade for receiving external rewards.
(38) focus on avoiding failure or punishment for fear of humiliation.
(4) focus on achieving a certain level of performance for competing with others.
7 O 9 o W U qeRd a1ed A= o1 9l i § 2
(1) et @ & forg sToet wierer 3R T9el 1 gaRa T &AW <l
(2) TR YRR UM H 6 T 3= U< I i R &M <Al
(3) STUHM o S H FHAA I G § T W &H <A |
(4)

4)  TEI % T yiaeaet e % fore ueh fAfvea wR % yeeE & o e W s

27. Which of the following process is essential in meaning-making of the information received from
environment and store it further in memory ?

(1) Decay (2) Forgetting (3) Retrieval (4) Attention

frrferiad o @ i ot wferan araeRe @ wm SRl & std-frmio o) 58 wfa § o guda s % fo
TIF © ?

(1) & (2) et (3) gifE (4) =E

P-IT ([ RRTRT A nm 1 N



28.

29.

30.

Assertion (A) :

In an inclusive classroom, adaptations should be made in learning goals, pedagogical strategies as
well as assessment.

Reason (R) :

The philosophy of inclusion advocates elimination of all individual differences through pedagogical
approaches and assessment.

Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

FFHAT (A) :

T GHERT e H, e o del, efirek Wi o \Ie-Ere e H STIeher fohal ST =1y |
0T (R) :

U 1 <9 eafores gfEenivr SR gewi & Hremm | |t Safeaa Tavel s gHE H i gehlerd
FA

wEr fashes |

(1) (A) 3R (R) S T € AR (A) Y (R) T&t AR Tl Il § |

2) (A) T2 § AfA (R) Tod B

(3)  (A) 3R (R) ST Tord ¥

(4) (A) 3R (R) I &I € 3R (A) T (R) HeEl HARAT T ¢ |

Dyslexia is a condition which impacts learner’s ability to
1) neurological, link sounds with symbols

2) physiological, socialize with peers

3) sensory, coordinate body movements

4) emotional, draw pictures

3T Ahed/femifoaan Tk feafq & it fonameft =t I &7l 1 gIfad I T
(1) e/ =R, LafTel S gdtel fawi & e sied

(2) SMReR, FIfer < eSSt

() Hodl, IR Tfafafe=l & T

(4) wTEATRHS, fo s

(
(
(
(

An elementary school teacher can strongly influence students” development of academic self-concept
by :

(1) Punishing autonomy and initiative in students

(2) Rewarding autonomy and initiative in students

(3) Keeping very low expectations from special students

(4) Keeping very low expectations from all students

T YR foamer 1 e o % Jeftrr oer-dyea % o o1 gedr ¥ o Y el ©
(1) BE H WEadr SR 98 Hl gfed el

(2) BE H WEAdl SR 8 Hl T S

(3) o BEl @ 9gd wF SEE WA

(4) T foenfeia § oga &0 Tt WA

P-XT {IARIRT DA nm 12 N



IMPORTANT / Hgeayqof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gitgnfefat &t w9731 @90 AT Gt 9T - 11 ( T F f&GF717) a1 4T - 111 ( QrEfSes 7997 / Qs
faarT) @ & &

PART - Il / 9IT - 1l
MATHEMATICS AND SCIENCE / o1 9 fasm=

Direction : Answer the following questions by selecting the correct/most appropriate options.

[T : fAefciaa o @ W &7 & [l Qgl/aad 39ga faeeq g

31. The area of the curved surface of a right circular cylinder is 4400 cm? and the circumference of its

base is 110 cm. Its volume (in m3) is : (Use Tr=27—2j

(1) 0.0385 (2) 0.0285 (3) 0.0382 (4) 0.0284
fordt <fa geita S *1 T IO SRS 4400 cm? § TR 3T SMUR F1 IR 110 cm ®1 de @

AR (m3 W) 7 (w=%wwaﬁ'\ﬁm)

(1) 0.0385 (2) 0.0285 (3) 0.0382 (4)  0.0284

32. Which among the following Learning-Teaching Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom ?

(a) Geogebra (b) Taylor’s abacus (c) Computer (d) Spreadsheet

Choose the correct option :
(1) (c) and (d) (2)  (b) and (c) (3) (b), (c)and (d) (4) (a)and (b)
TIford skt shenl § gfteantya foenfei & fau frafafea st e dareqt (@ 2 o) § 9 =9 1 9ol
ST ¢ ?
(a) foESET (b) e 1 fFam () HHH (d) el
'{Té\' Ty ?\ﬁ :
1) (© @ (2 (b) 3 () (3) ()@ @ (@) WD)
SPACE FOR ROUGH WORK / 7% &9 & feg smrg

P-IT ([ RRTRT A nm 13 N



33. BD is the diagonal of parallelogram ABCD such that ZCBD=12x, ZABD =7y, ZADB=60° and
ZCDB=28°. Then, the value of 2x+3y is :

1 21° (2) 22° (3) 23° 4) 20°
fordt TR SgYs ABCD &1 fa@ul BD 39 WaR ® fF ZCBD=12x, ZABD =7y, ZADB=60° 3R
ZCDB=28° %1 & 2x+3y & A1 T :

(1) 21° (2) 22° (3) 23° 4) 20°
1\ 2yt . x oy
34. If X _ (_j - (_j , then what is the value of [— + —j ?
y 3 3 y X

19 38 a8 3

(1) 48 (2) 73 (3) 265 (4) 16
_ _ -1
Hﬁﬁz(ij3+(3j4%,?h[f+1j T AE R ?
y 3 3 y X

19 38 a8 3

(1) 48 (2) 73 (3) 265 (4) 16

35. A student listed the following properties of Rational Numbers. Which one/ones is/are correct ?
(a) A rational number includes integers.
(b) 0 (zero) is not a rational number.
(c) All fractions are rational numbers.
Choose the correct option :
(1) Only (b) (2)  Only (c) (3) (a) and (b) (4)  (a) and (c)
e fereneft = ufti Hemst % frefafea qoemt o gt o g | T ¥ wE-av gl e ?
(a) U UREF G § quiis Fimfed ¥
(b) I (0) URET TE T ¥
() T f= ufide ged A ¥
el fashed 94
(1) F (b) () F () () @b @) (@ IFRE)
SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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36.

37.

38.

If the median of the data 30, 8, 7, 3, 17, 15, 21, 24, 29, 23 is x and the median of the data obtained
by replacing 3 by 33 and 8 by 18 in the above data is y, then what is the difference between
yand x ?

1 2 2 3 () 4 4 1

afg eTwel 30, 8,7, 3,17, 15, 21, 24, 29, 23 1 TeAF x ¥ IR 7 sihel § 3 1 33 W a1 8 &l 18
Hfaeenfid s W U STkl I WIEA ARG i T, A y 3R x A1 SR 717 ?

1 2 2 3 (3) 4 4 1

In triangle PQR, ZP=55° and QR=18 cm. In which of the following cases, APQR can be an
obtuse scalene triangle ?

(1) «£R=15°and PR > 18 cm (2) Z4£R=65°and PQ > 18 cm
(3) 4£R=35°and PR=18 cm (4) Z4£R=25°and PQ=18 cm

39 POR #, /P =55° 3iR QR=18 cm ¥ | 1= feerferli & & fora® APQR e 1frer =hivn farsmrang et
B TR 8 ?

(1) ZR=15° SR PR > 18 cm (2) ZR=65° R PQ > 18 cm

(3) £R=35° IR PR=18 cm (4) ZR=25° IR PQ=18 cm

In triangles ABC and DEF; ZB=90°, BC=8 cm, ZA=40°, DE=8 cm, ZF=40° and ZE=90°. Then,
which of the following statements is true ?

(1) AABC = AFED, by RHS (2) AABC = ADFE, by AAS
(3) AABC = AFED, by AAS (4) AABC = ADEF, by RHS

st ABC 3R DEF #; /B=90°, BC=8 cm, ZA=40° DE=8 cm, ZF=40° 3R ZE=90° %I &, f7=
FoAl H F HF-91 HU AH § ?

(1) AABC = AFED, RHS NI (2) AABC = ADFE, AAS NI

(3) AABC = AFED, AAS g (4) AABC = ADEF, RHS §RI

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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39.

40.

National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teaching. Which among the following are correct in the context of using sports
integrated pedagogy in mathematics classroom ?

(a) Teaching-learning process shall become joyful.

(b) Itis not possible to use sports for teaching mathematics.
(c) It will be time consuming and hence needs to be avoided.
(

d) Apart from popular sports, there are many indigenous sports which can be used in teaching
mathematics.

Choose the correct option :

(1)  (b) and (c) (2) (a) and (d) @) (b),(9)and (d) (4) (a)and (c)

Tt foren +fifd, 2020 Fawier St € fF @ Thigha RIeImmes =1 wefl § ST i i A9l © |
T Thighd fememe & Hewd # niforg 6t hen & fou fFefafad § 9 w1 @1 e 96 2

(a) Toaror-sifenm ufsran st=grEER &1 ST |

(b) TS HT START IO Tg H g T ¥ |

(c) 3HH 9gd THY @H o SO Al 36 <o Afed |

(d) s Tl & ST %3 ¥ W § 5! STEnT o Yo | foha S wehar €1
uﬁﬁwgﬁ

OEROEE 2 () 3R () 3) (0, @A) @ @ 3IR(©)

The product of two rational numbers is —4—??. If one of the two numbers is —g , then the reciprocal

of the other number lies between :

D) = and~ (@) L oandx 3 L oand = L = and —
1) 5 and 5 (2) 7 and 7 () an (4) 7 and 55

<1 9fa HeEmsti s uEEd —4—; g1 AR A demsli d 4w —g T, T T S 1 oA 7 %
S H fea

9 1 1 1 1 1
(1) 55 ¥R @2 ¥ @) ¥R3 @) oy o5

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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41.

42.

43.

44.

45.

Three numbers are in the ratio 2 : 3 : 4 and the sum of their cubes is 33957. What is the sum of the
three numbers ?

1) 63 2) 72 3) 81 (4) 54
T HEAd 2:3: 4 % U B € IR Sk ¥ Rl A 33957 ¥ | T A4 WA i an 9 ¥ 2
1) 63 Q) 72 3) 81 (4) 54

If x=1.011+10.11-12.101 +0.1011, then what should be added to x to get the sum as 1.1 ?

(1) 0.3111 2) 0.2211 (3) 1.1311 (4) 1.9789
afg x=1.011+10.11-12.101+0.1011 &, & x & =1 Sel WY, f9E IThet 1.1 9T &1 2
(1) 0.3111 2) 0.2211 (3) 1.1311 (4) 1.9789

If A= —2x2+12x, B=11—-8x+3x2 C=17-4x2 and D=x2—x—3, then what is the sum of the
co-efficients of x2 and x in (A+B+C—D) ?

1 -1 2 1 G) 3 4 0

IC A= —222+12x, B=11-8x+322 C=17-422 3R D=22—x-3 &, @ (A+B+C—D) H 22 3R x
% IO T AN T

1 -1 2 1 G) 3 4 0

If a 8 - digit number 94 7 1 x 9 y 2 is divisible by 72, then which of the following statements is not
true ?

(1) x=4andy=9 (2) x=9andy=5 (B) x=3andy=1 (4) x=8and y=>5
ARG 8 - SRF F@NM 9471 x9y2, 72 | faysa &, @ 791 & § a1 e I T8 72
(1) x=43Ry=9 (2) x=93Ry=5 (3) xr=33Ry=1 @& x=83dANy=5

The number of vertices (V), edges (E) and faces (F) of a polyhedron are respectively 10, 15 and x.
Then, the value of (3x—12) is :

1) 9 2) 14 (3) 18 4) 7

ot sigwheTeRt & IS (V), FRRT (E) 31 wetehl (F) T S&amd shaet: 10,15 3R x €1 @9 (3x —12) 1 9H
g

1) 9 2) 14 3) 18 4) 7

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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46.

47.

48.

A box opened at the top is made of wood of thickness 3 cm. Its external length, breadth and height
are respectively 1.48 m, 1.16 m and 83 cm (base =length X breadth). What will be the cost of
painting its inner surface at T 150 per m? ?

(1) < 839.10 (2) < 841.40 (3) <X 842.50 (4) < 838.20

TR ¥ Gl g T 991 3 cm TSN TS & 91 § 1 THHT IR A9E, ASE AT SoE HH:
1.48 m, 1.16 m 31X 83 cm ¥ (YR =T x FIE) | TIH! aeh Tl W T 150 i m2 &t T § e
T T AT A Bt 2

(1) % 839.10 (2) T 841.40 (3) ¥ 84250 (4) ¥ 838.20

A shopkeeper sells an article for I 324 after giving a discount of 28 % on its marked price. The cost
price of the article is ¥ 300. If he sells the article by giving 18% discount on its same marked price,
then what will be his profit percent ?

(1) 19% 2) 23% () 24% 4) 10%

TS GHMGR T ] hl IHH Afohd Jod W 28% ! P2 H T 324 T =l ¥ 1 % 1 7 oA T 300
T A o7 39 9% I 3% 39 Hfhd oI W 18% i D2 I 4, TN SHbT A U9t 1 S 2

1) 19% 2) 23% () 24% 4) 10%

Mathematics is a way of thinking since :

(a) It provides an opportunity for students to engage in proofs and examining patterns.
(b)  Students reproduce formulae and symbols during problem solving.

(c) Students use appropriate strategies for solving various new problems.

Choose the correct option :

(1) Gand() () @and() (3 Only(b) (4) (a) and (b)
TIOTd Tek HI=H o1 TR © TR

(a) e foenferdi =1 el wd gfqumsi & fiemn #§ = (Fer) WA & faw s1aeR U & 2
(b) TEE FHIEM % SR foenell O v fo=i o1 e €

(c) Toeneft fafvm= 78 awensti 1 amam w1 & fo Suge gfaai w1 SuEnT i € |

T fashe w1 = AT

(1) (b) ¥R (o) 2) (@) 3R (0) (3) e (b) (4)  (a) ¥R (b)

SPACE FOR ROUGH WORK / 7% & & fag wig
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49.

50.

51.

A class VI mathematics teacher posed the following problem to her students :

“In a morning walk, three persons started together. Their steps measure 70 cm, 85 cm and 95 cm
respectively. What is the minimum distance each should walk so that all can cover the same
distance in complete steps ?”

Which of the following concepts would be required to solve the given problem ?
(1) Concept of LCM

(2) Concept of division

(3) Concept of proportion

(4) Concept of HCF

R VI ! Teh o1 vt forfarent =5 e1a foenfefai o gmer f=fafea gv1 @

“OTd: hTel WY dF SAfed T WY 9ol YRY R &1 S99 heHl i ddee AW 70 AT,
85 9. 3R 95 A, T 1 TTH ¥ s <A fohat g =t foF 3 ot g - FcHl H 7@ W FH 2"’

freferfiaa # sH-dt sremond fou e 5e7 1 e A % fog sereares 2 2
(1) TTCH FH9ecs (A.H.) i STaR

(2) faursH =t SR

(3) EHIIU T TR

(4) HETH HHIYES (H.H.) hi AL

The lengths of the parallel sides of a trapezium are 11 cm and 25 cm and the distance between
them is 12 cm. Its area is equal to the area of a rectangle whose sides are in the ratio 3 : 2. What is
the perimeter (in cm) of the rectangle ?

1) 50 2) 60 (3) 70 4) 40
et Tete 9gys ST IHid YT 11 cm 3TR 25 cm € 3R ST o9 6t g 12 con § 1 9T &9%el 39
ST & &eT o SeR ¥ TSR ST 3: 2 & 79[ H €1 39 37 1 IR (em H) ®E?

(1) 50 2) 60 3) 70 (4) 40

x varies inversely as y. When x=3.5, then y=2.4. What is the value of y when x=5.6 ?

1) 1.5 2) 2.1 3) 2.8 @) 1.4
X, y % W1 KA [0 HIA 8| S x =358, T y=2.4 8| ¥ x=5.6 &, T y Hl A 1 2N ?
1) 1.5 2) 2.1 3) 2.8 @) 1.4

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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52.

53.

Which of the following is not a dimension of assessment of mathematics learning ?
(1) Patterns and procedures

(2) Disposition towards mathematics

(3) Mathematical reasoning

(4) Communication

frafafea § 9 sA-a1 wforg AR S 2AThe 1 ST T8t © 2

(1) ufgae (Yei) IR gfsran (FwEi-fafy)
(2) TIfora < gfd E=H

(3) T doh

(4) T

Teacher conducted an oral assessment in class and found that Ram can speak definition of all
types of numbers - odd, even, prime and composite accurately, but not able to identify the numbers
accurately when given a set of numbers.

Which of the following is most appropriate for the above situation ?

(1) Ram has good memory but lacks concentration.

(2) Ram has good memory but lacks conceptual understanding.

(3) Ram has analytical ability.

(4) Ram has good memory but lacks practice.

Trereh = =hefl § Hifsh Arher i Ao fehal TSad =Te wal el fob T forvm, 9w, 19 3R wiea St
Geft TR it F@sl wt A1 9 G GRS Iq1 TRl T, W 59 SEAsT & 9= 5 e 96 9%
e ol el 9§ e T ur |

S et % for Fretfefad & @ S @1 sfq-suge 2

(1) ¥ ! 0 9ok 3T=s! § O] Tehrdl hi i & |

(2) TH H T Wl TS § T STATRONCHSE silel i AT 8 |
() T H v JrEd § |

(4) T9 I RO MK TS § TG ST Tl HA ¢ |

SPACE FOR ROUGH WORK / 7% & & fag wig
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54.

55.

The following table shows the number of different fruits kept in a carton :

T £ Pome-
yPeo Mangoes | Apples | Oranges | Guavas ome
fruits granates

Number 44 56 42 30 38

If a pie chart is constructed for the above data, what will be the angle of the sector representing
apples ?

1) 72° 2) 96° (3) 100.8° 4) 79.2°
=1 arott & foedt fesa O w3 U fafi= well =t Sensti =l <9 T ©
el & 3Ty od TR | S | 3FR
TER
&I | 44 56 42 30 38
IfE SIS HS! T Teh UE =S SN ST &, Al 39 FSoRaE 1 hI01 1 ST i Fail <kl S & 2
1) 72° 2) 96° (3) 100.8° 4) 79.2°

A middle school mathematics teacher poses the following question to her class.
“Which type of graph would you use to show the following data ?

(@) The heights of participants in an athletics meet

(b) The number of passengers boarding trains from 9:00 am to 9:00 pm at a station.”
The intention of the teacher is to -

(1) Introduce the concept of pie charts.

(2) Teach line graph through contextual situations.

(3) Teach the use of histograms for data representation.

(4) Help learners understand the difference between bar graph and line graph.

fredt whet &t UG skt Uk forfarent oToet e % wme frefafed ged wd ©

" frfafad sl = ToiH & foT 319 ford TohR & 3TToi 1 ST il ?

(a) Tordl Wershe ufqaifiar § gfasiiEr o

(b) el WIM W UM@: 9:00 91 § T 9:00 IS Teh YoFMiSdl ¥ S el A1 bl el
TeATTehT hT T © -

(1) URE-1E ot TR T IR= 1|

(2) (EI-3ATE 1 HeHicHsh TRICET SarT e e

(3) 3iihel % fequr % foru stafas & SuanT 1 fneror e |

(4) TUS-3MCE AR [W@I-3ATCE & o9 o 3T bl Tre § fenfo=i =t wemem &3 |

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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56.

57.

58.

59.

Concept was labelled as ‘Schema’” by :

(1) Piaget (2) Bruner (3) Van Hieles (4) Vygotsky
AN STAHRON ol ' ThiHT' o &9 § AHifhrd fhan = o
1) frEs 2) TN (3) AT (4) @TEICEhT

Three consecutive integers are such that when they are taken in increasing order and multiplied
by 3, 5 and 2, respectively, they add up to 99. What is the sum of the original first and third
integers ?

1) 18 2) 20 (3) 24 4) 16

¥ SHANTA quifeh 39 YR § foh 561 3% agd ¢ A | foren Siman € 3R shen: 3,5 Qe 2 9 707 ik Sirel
ST, 1 TR 99 W BT €1 STRAYeR Teet qel diax qoTishi o1 41T 3T § ?

1) 18 2) 20 (3) 24 4) 16

The difference between two supplementary angles is 20°. If the smaller of these angles is p, then
the value of 3p—50° is :

1) 270° 2) 250° (3) 190° (4) 310°
3 T IV HT R 20° ¥ 1 A 379 | DT H0 p T, A 3p—50° H A T :
1) 270° 2) 250° 3) 190° (4) 310°

One of the factors of p3x+p3(x—y)—p(y+2)—z is :
(1) px+py+z (2 px-py-z (3 pAxtpy-z (4 pA-pyt:z
p3x+p2(x —y) — p(y+2z)—z & PHES § ¥ TH PHES © :

(1) p%x+py+z (2) px—py-z () p%x+py-z (4) px—py+z

SPACE FOR ROUGH WORK / 7% & & fag wig
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60. A student was given the following problem on percentage to solve,
“Find the percentage of decrease if the population of a city decreased from 28,000 to 26,500.”
She wrote the following solution,

Original population = 28,000; New population = 26,500

26,500
0 =" x100% =94.6%
% decrease 28,000

Which of the following is most appropriate with respect to the response of the student ?
(1) Student has solved the question correctly but has used wrong symbols in solution.
(2) Student does not know the concept of percentage.
(3) Student has made a careless mistake.

(4)

Student is able to understand the concept of percentage but is not able to understand
percentage of which quantity is to be found.

T famnefl 1 gfaerdar W Frefafiad goen gd &3 &1 & T,
“ 3R ek Y& i SHEEAT 28,000 | FEHT 26,500 B T § I STHEE & ¥ i Fragradn Jd shifera |’

~

3 f=fafaa g foran,

YRR SEEAT = 28,000; 95 SHEE = 26,500

26,500
28,000

X 100% = 94.6%

A R % =

foremeft & IR & el A Frafafead § @ o wo@ Iuge § 2

(1) foreneff 7 wv7 1 W2 ok 9 7 foRa © foheq S99 S ¥ e fogl 1 SWEN foRa 1
(2)  Toremeff gfaeradn i STERON 1 T& ST |

(3) fomneft 3 sr@EYTEw T I i B

(4) foreneff yfoeraan T STEURET &I THsH § 99 § T4 9% 98 999 U § 99 7@ © for foRm ufr =t
ST 1 AT S 1

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61.

62.

63.

Which of the following is not desirable with respect to carrying out of a classroom demonstration
by a teacher ?

(1) Emphasise beforehand the linkages that students are required to make
(2) Supplement the demonstration with explanations

(3) Follow up the demonstration with discussion

(4) Rehearse the demonstration before carrying it out in class

frfafed o & & o e g1 e § Y5 &l e w3 & oy § Siod Tl § 2
(1) 973 9E & A el (Hed) W o < et i s farnfe=i & fag sevas ©
(2) IREH I sl ¥ G T (A HE)

(3) uR=El & Y GG 1 LT HEAT

(4) e H FwEfEd w9 IH YSEH T ST R

Which of the following statement(s) is correct ?

(1) Fertilisers enhance the water holding capacity of the soil

(2) Fertilisers provide a lot of humus to the soil

(3)  Fertilisers increase the number of friendly microbes in soil

(4) Fertilisers are richer in specific nutrients as compared to manure

frefefed § @ ®F 9/9 wo ad@ g/ 2

(1) S Gt STAYR eFal H JIfg i &

(2) ORI W T T TG AT H g I Bl ©

(3) I 9 g1 H s Siamed w Hen ¥ gfg & S §
(4) @IS I 370N I ArUeR! ok Hay H ofues w9g o §

A teacher, while teaching the chapter ‘Body Movements’ to class VI students shows the following
images to her students :

A sailing boat, swimming fish and a flying aeroplane. She then asks the students to reflect on the
shape of the images and the manner of movement. Which of the following are likely to be employed
by students in answering ?

(a) Classifying (b) Observing (c) Inductive reasoning (d) Measuring

(1) (b) and (¢ (2) (o) and (d) (3) (a) and (d) (4) (a) and (b)

T Tfetat 3o @hett VI & faenfeli &t ‘IRR § 1fq’ a8 9g 9wy fefatea gfdafas foamd]
g

ST Sl A, T TFelt IR Teh ISl gaTs Sfelst | a8 qqueard faenfefi s gfafersi st emehfa s nfa
& YR ! gfafafed & & fau wedt 81 W e & foau faenfoai gro fm § 9 foaent denfaq w9 9

BRISCRE RISV
(a) fieRYEr (b)  STECAIRA (c) SINHATH® qehsilarar  (d) H79d
(1) (b) ¥R (o) (2)  (c) IR (d) 3) () R (d) (4)  (a) ¥R (b)
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64.

65.

66.

Identify the set of micronutrients (nutrients required by plants in small quantities) :
(1) Copper, Phosphorous, Calcium (2) Sulphur, Aluminium, Chlorine
(3) Zinc, Iron, Manganese (4) Potassium, Magnesium, Copper

frfafea o 9 99 (1Y) FaH 9okl o I (T ARl § kUl gRT ST iveh) hi gd
HI :

(1) dien, WEHRd, SHiegem (2) oW, UeIfafTom, S

G) N (S=m), ok, H e (4) referm, Frifery, dfen

Which of the following is NOT indicative of the hypothesising skill ?

(1) Attempting to explain observations or relationships in terms of some principle
(2) Using the senses to gather information

(38) Identifying variables for an experiment

(4) Formulating questions which lead to inquiry

frfafea 8 9 &9 @1 TRerea T 3 % Hive & e 8@ 82

(1) = fasidl & foawa § sTeciel e Gadl i S i FHl T HET
(2) I THA HE o A€ FEEE BT ST BT

(@) et wEm & fore =’ sl qe= A
(4)

4) G d% o S o 999 ST

Read the following text :

When a negatively charged rod is brought near an uncharged electroscope,

(a) the electroscope leaves move further apart

(b)  both the electroscope leaves acquire similar charge

(c) the negative charges pass on to the electroscope causing its leaves to move further apart
Of the above three statements :

(1) (a) and (b) are observations and (c) is an inference

(2) (a), (b) and (c) are observations

(3) (a), (b) and (c) are inferences

(4) (a) is an observation while (b) and (c) are inferences

frfafea g =1 ufey :

el BT €9 ¥ e B8 (JS) 1 SAEi fogaestt & e @ s §,

() foreaeetl afeel o qae & ofR gx s

(b) T forgaestt afaar TEm stew SIS wa

(c) UICH Yol ol fagaee W exdiafd foran san & forees afomTeey gt afhal th-gm 3§ iR

R Tl ot §
SRR T Fo W
(1) (a) 3R (b) SR & 3T (c) STIAA ©
(2 (a), (b) ¥R (c) SrewciiF &
(3) (a), (b) ¥R (c) IIAM &
(4) (a) TR § SEIF (b) IR () SFHHA §
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67.

68.

Find the set that correctly matches the plants in column A with the mode of asexual reproduction
which they exhibit :

Column A Column B
(a) Rose (i) Budding
(b) Yeast (i) Spore formation
(c) Ferns (iii) Fragmentation
(d) Spirogyra (iv) Pollination
(v) Vegetative propagation

1) @)-(v), (0)-(0), ()-(v), (d)-(iii) ) @-(v), (b)-(iii), (c)-(ii), (d)-(i)
(B)  (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii) 4)  @-(v), (b)-(i), (c)-(ii), (d)-(ii)
U W= HI GeU Sk Hier A H UIRUl 1 Tk 5 FR¥A STifiTR s fafy % Wy v weR @
“{[El?f FATR
HicTH A HicH B
(a) TeTst (
(b) e (THR) (
(c) W (TUIT) (i) @ed
( (
(

a

d) TR

1) @-@v), (b)-G), (©)-(v), (d)-GiD)  (2)  (@)-(v), (b)-(id), (c)-(i1), (d)-()
() @), (b)-(ii), ()-(), (D-)  (4) (@)-(v), B)-(1), ()-(i), (d)-(iii)

Read the following paragraph carefully and select the option which would correctly fill the blanks
in the given order.

Sound is produced by vibration and different musical instruments have specific vibrating parts. In
a_ X  the sound is produced by stretched strings, ina Y it is the stretched membrane that
vibrates and ina  Z the vibrating part that produces sound is the air column.

X, Y and Z can respectively be :

(1) dholak, ektara, mouth organ (2) guitar, tabla, shehnai

(3) ektara, violin, piano (4) sitar, harmonium, dholak

frefafEd sTI=s &l eamyadh dfey qen 39 fashed o1 =M wifse Sifer W&l YR | fou 7T s o Rea
T ol WY |

3 ST R 3 it © qen fim-fi ame o & fafire dowm wm €1 X H waft arfra ani g/
ST R, Y HAd foeei s oA ot e qe 7 W eaf Scuel shid dell ShadH FT, arg-&d o
(i) T

X, Y 3R Z A 8 T §
(1) I, ShAN, JE-3ATH 2) e, qee, 3EE
(3) IHaN, aMfed, fam (4) T9ar, i, S
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69.

70.

71.

Which of the following would be a most suitable strategy to introduce the topic ‘deficiency diseases’
at upper primary level ?

(1) Arrange for a doctor’s prescription pertaining to a deficiency disease and hold a discussion
around it.

(2) List the various nutrients and the functions they perform in human body.
(3) Hold a discussion on common human diseases.
(4) Provide a definition of balanced diet and introduce the concept of deficiency.

I WU TR W AHES= 1 {990 &l Tqd w1 & FHefarad § 9 & 9 9ed S9ge I R 2
(1) STEs I 9 Fafya el (fafads) & IoeM & aeen o 39 T qieE=l &

(2) AFE IRR H fafie went iR 59 franstl 1 o foares & € S8 geias &
(3) HEI A Heieh T 9 gf=El

(4) HIfed SRR St IRYT UG HTAT 941 STHE i FTURON I TKA HAT

Seed dispersal may be said to help the plants in all of the following except :
(1) avoid competition for sunlight, water and minerals

(2) invade new habitats

(3) produce new varieties

(4) over crowding

El-S Hehell & Tor freAfefaa & 9 9t & st gkl o 9Iedl sl oy 95 § (TR & §) faum
(1) 9d TN, 5 T @isii & foe gfaeqsi o &

(2) T SAETE H A Gohe S %

(@) & o I w A &

(4) sHfadger

Read the following statements carefully and select the correct option.
Assertion (A) : The stars in the night sky appear to move from east to west.

Reason (R) : The earth rotates from west to east.

(1) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(2)  (A) is correct but (R) is incorrect.

(3) (A) and (R) are both incorrect.

(4) (A) and (R) are both correct and (R) is the correct explanation for (A).

frefafiad el 1 sarges gfeu don @&t fosred =1 == sifs
AR (A) : TR e § AR qd & ufv=m wi IR 71fd S wdid 2 ¥ |
Wk (R): et ufvem @ ud foun § goft et 7

(1) (A) 3R (R) I @&t § g (R), (A) T & =08 T2 7
2) (A) ¥ E T (R) T g |

(3)  (A) 3 (R) ST TTerd |

(4) (A) 3R (R) ST W& € T (R), (A) i T == T
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72.

73.

74.

75.

Identify the correct statement(s) :
(@) : A fact is an observation that has repeatedly been found to be true over the time.
(b) : A law is a theory that has repeatedly been found to be true over the time.

(1) (a) and (b) (2) Only (b)
(3) Neither (a) nor (b) (4) Only (a)
HE HH/HUA I GEEH HIY :

(a) : T Teh AR § FT8 THR SRR T 9 T ¥

(b) : o T fagia § 99 a9EmR sReR 9@ o= @ gl
(1) (a) R (b) (2) HId (b)
() (a) 3R (b) H g off 7 (4) HAA (a)

A ball is thrown up in the air. It reaches a maximum height and then returns to the thrower.

Which of the following quantities have the same values during the upward and downward motion
of the ball ?

(1) Force of gravity (2) Displacement
(3) Work done by gravity (4) Acceleration

Teh Tig 1 &9 H SR i 3R Tkl 77| I8 SATUhad ST T Tga- o AU thehd dTel o I ST 3T
T

g i IUREET iR Al i/ =me & gra frefafed § @ oF 9t Qe w1 99m 96 72

(1) T A aA (2) fazemmm

(3) & gRI fohan T (4)

Read the following statements carefully and select the correct option.
S1: Rayon is a synthetic fibre.

S2: Rayon is made without using any natural raw material.

(1) Sl1is true and S2 is false (2) Slis false and S2 is true
(3) Both S1 and S2 are false (4) Both S1 and S2 are true

frefefiad weml 1 eages 9fgu qon |et fashey sl =@ HIfS
S1: &M U Hivere dg B
S2: XM o T fohelt Wiehfaeh sed WIeT o YRINT o ST I R |

(1) S1 9§ AR S2 e § (2) S17ed § SR S2 W T

(3) S1aS2 T Tod & (4) S19S2 <M wE ¥

Which of the following gases are responsible for acid rain ?

(a) Nitrogen (b) Oxygen (c) Ozone

(d) Sulphur dioxide (e)  Nitric oxide

(1) (b) and (c) (2) (c) and (d) (3) (d)and (e) (4) (a) and (b)
frfafed o @ o T4 sl i & fag saeret €2

(a) FTEIISH (b) ARSI (c) 3=

e) EfgH 3ES

(d) YR SEHAFES )
c) 3 (d) (3) (d) ¥R (o) (4) (a) IR (b)

(
(1) (b) ¥R (o) 2
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76.

77.

78.

X and Y are thick, black liquids which can be used for metalling the roads. X is derived from
petroleum and Y is derived from coal. Which of the following can X and Y respectively

be ?

(1) Coal Tar, Charcoal (2) Charcoal, Bitumen

(3) Coal Tar, Bitumen (4) Bitumen, Coal Tar

X SR Y TG 1ol 291 & TSTehT TA1T Tehi ohl Tkt 3 o ToTt foran ST At 81 X USiferam & =cae © qe

Y e ¥ el §1 fefafad § 9§ SiF o1 wEen X iR Y & 9k €2
(1) hICTAR, ARSI (HTS-hIIT) (2) <R (HTS-hEe), fogad

(3) wieMR, fagaa (4) fIgHd, SR

Which of the following is the most suitable reason behind Newtons theory of gravitation being
regarded as an excellent theory ?

(1) It has been arrived at after thorough experimentation

(2) It has been formulated using the precise language of mathematics

(38) It has been developed over a long period of time

(4) It explains larger number of observations by making fewer assumptions

= o TEAHE & TIGId ! T Iape f9gid 7MY & N Fefafed § § &F 91 gaifis ST sRo
g2

(1) 39 R YUl YA & q9E & Igan T §

(2) T8 RS IO TS T AR Hleh PG TRl T ©

(3) 38 <euuy erafy o fasmfaa faran o

(4) T8 FHY RO A SS T H Yequll ot e il ©

Read the following statements and select the correct option.

Assertion (A) :

Dried raisins when left in plain water for some time swell due to osmosis.
Reason (R) :

Plant cells have a selectively permeable cell membrane.

(1) (A) and (R) are both correct but (R) is not the correct explanation for (A).
(2)  (A) is correct but (R) is incorrect.

(3)  (A) is incorrect but (R) is correct.

(4) (A) and (R) are both correct and (R) is the correct explanation for (A).

frfafaa wemi =i afen iR W&t faseq &1 === sife .

FUwA (A) :

et g frufoe =1 59 3o v & fow a) 59 | e foan m=n @ 98 wREn % SR % S
e (R) :

ey IS B ROMcTd T H IR et foreett gt T

1) (A) 3R (R) I T& € W (R), (A) FT & ==0e 74 2

2) (A) & T T (R) To@ B

(3) (A) T § T (R) F&l 1

(4) (A) 3R (R) 1 Tl T T4 (R), (A) I F&l AR T |
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79.

80.

81.

Which of the following best explains the statement ‘science promotes scepticism’ ?
(1) Science is purely inductive in nature

(2) Scientists do not trust the findings of other scientists

(8)  Scientists are open-minded and willing to modify their ideas

(4) Scientists judge the validity of a claim based on objective empirical evidence

frafafad 8 9 FF 9= ®9 9 ' fag Hegdre i agen Ia1 ' e &1 AR il § 2
1) foum e ¥ 95 9 9 WTHAHS ©

2) SRR gER (31) SRR & Sire-afond R favars @ e §

3) S SR foaR At B § e ST foeRi s ®Widia T % eI B §
4) fowafrs sTwfas Wedl % SUR TR SR < T ST Rl 3Tehd §

(
(
(
(

Which of the following statements regarding rusting of iron are true ?
a) It involves a chemical reaction between iron and oxygen.

b) It is an exothermic reaction.

(
(
(c) It can take place at room temperature.
(d) Itis reversible reaction.

(

1) (b)and (o) (2) (a) and (d) 3) (@) (P and () ) (a), (b) ()
frefafad & ¥ ®F 9 FoF e § S o % e H W@ © 2

(a) IE e (AR) 3R siferdisH & o= qEmafTen tfufshan 1 wnfhe s g

(b) I% T oAt Afufsman 7

(c) ¥ W MY (HIS—d9) T & Fehell T |

(

(

d) % SohAvig Afufean T
1) (b) 3R () (2) (a) ¥R (d) B) @ )R () @) (a), b) (d

Which of the following is a set of animals in which all show external fertilization ?

(1) Lizards, butterflies, frogs (2) Butterflies, frogs, fish

(3)  Frogs, fish, starfish (4) Hens, lizards, butterflies
frefafed § 9 37 Sigetl =1 9= S 91 § S 9t s foee w6 gl § 2
(1) foumeh, faaeh, Hew (2) faaet, Hew, AS

(3) Hem, Ao, TRIET (4) T, Todend, faaet
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82. A body has a linear momentum of p and a mass of m. The kinetic energy of the body
is :

(1) 2p’m @ - @) pm @ p'm

e fig o1 aes o p aen gemm (Fefd) m T Tfast Sl 71 § 2

(1) 2p’m @ - @) pm @ p'm
83. Identify the correct statements from the following :

(a) Generally non-metals do not react with water.

(b)  Generally non-metals do not react with acids.

(1) Only (b) (2) Both (a) and (b)
(3) Neither (a) nor (b) (4) Only (a)
feferfad o 9 W&t el i TesH HISg ;

(a) EETEA: STUT] S ok WY AHlHA & A |
(b) EETEA: ST STl oh Wil STIfshan T wLd |
1)
()

a

1)  ad (b) 2) (a) 3R (b) S

3) A4l (a)TE (b) (4) I (a)

84. A box of mass 500 gm is lying on a horizontal table. Which of the following statements is true
regarding the force(s) acting on it ? [g=10 m/s?|

(1) An unbalanced force of 5 N acts on it in downward direction
(2) A pair of balanced forces acts on it
(3) An unbalanced force of 5 N acts on it in the upward direction

(4) No force acts on it

Sfaet (STuE) TSl (29d) W IS TC TH fesd (Si) i goqq™ (Hefd) 500 UM &1 39 R & amal
A1/ 9ell & oy § fAfafed § 9 o 9 w29 9@ 82 [g=10 m/s?]

sTeEt foun § 39 W5 N &l eHgfad 9 & Hd ©

(1)

(2) Eqferd sell 1 Th I () SH TR HE B @

3) Suftgd feen § 39 W5 N 1 r€qferd sl sl e §
(4)

4) SH TR ol 1 6l B S
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85.

86.

The difference between maximum and minimum resistance that can be obtained by connecting

1
three resistances of 3 Q each is :

1 9 2) 10 B 9 4 9

SHfearem SR =T RRe 35 o 7 AR S T - © 3 1 g 1 S 3 5 e 7 o
%,3'6'%:

Which of the following is the most suitable strategy for introducing the students to the concept of
‘chemical reactions” at upper primary level ?

(1)  Write the chemical equations in symbolic form and ask students to observe
(2) Define a chemical reaction and give examples

(3) Hold a discussion on chemical reactions which students are likely to have observed in their
lives

(4) Explain the concept of valence electrons and electronic configuration

o W TR W) TEEfae Afufshan’ ot mayumen 9 faenfi=i = gifad s & fou f=fafea 9§ 9
S G 21fa e W § 2

(1) TS THTl Sl Fdtehids &9 H foaan qen faenferli @i staeie & & fag we
(2) At Afafswman s AR S e SR <

() = qEEfE AffmaeT W afE=t S e faenfefi 3 37 siad o Fifad &9 9 sTeeend o
W@ T

(4) AT ST 3R SAaRieh fa=aTe i STALRUT St AR HLAT
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87.

88.

Consider the test item given below and match the following :

Column - A Column - B
Unit of force Joule
Symbol of iron HCl1
Formula of hydrochloric acid Ag
Unit of work —|I|I|I—
Symbol of silver Calorie
Symbol of battery Fe
Newton

Which of the following is not a reason that can be given to justify that the item is poorly
constructed ?

(1) There are unequal entries in column A and B

(2) The matching pairs can be easily guessed

(38)  There is inconsistency among entries

(4) For an entry in column A there are at the most two plausible entries in column B

= & T8 Tdteror Il R faar Sty o frefafea w1 gaa sife

HIAW - A whic™ - B
I ht Shls (HTH) Sl
e o Taee HCl

TSI T8 1 Ag
®rd hl g (AER)  —i|i|—

=t 1 fa= e
g0 1 fae Fe
A

78 Sterd g et & for fon gl S =1 <t 7 @ qent fefafed 3 @ i | o @ fear st
Hehdl 7

(1) Hiem A R BH rmm yfafear €

(2) THerd Tu I 1 WAd | STHE T ST Hehell ©

(3) wfafed # (% <= #) fagnfa ©

(4) i AH Tt gfafe & fau wiem B # sifuman <t gfwagea wfafeat €

Which of the following plant disease(s) are caused by bacteria ?

(a) Rust of wheat (b) Citrus tanker (c) Yellow vein mosaic of bhindi
(1)  Only (b) (2)  (b) and (c) (3) Only (c) (4) (a) and (b)
Frfafed § 9 M 9 wed I (St /) Sfar] g1 8 € ?

@) TWHFom (K Ffwee) (b) foaem W (c) TerEh =t dia fam femeffc

(1) F (b) @) () FR () () F () (@) @ )
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89.

90.

X___is a device which is used to see around corners and is based on the principle of Y .
X and Y respectively are :

(1) Kaleidoscope, refraction (2)  Periscope, reflection

(3) Periscope, dispersion (4) Telescope, reflection

X Uk I 8 FHent A Sl o efie en h fau fran s g e ag Y & fagia W emenfia ©)
X SRY w9l ®

(1) JIgE9eE, T9ead (2) afReEl, TeRd
(3) afReEf, g (4) TEEH (AERIT), TEdT

Match the substances in column A with their chemical names in column B.

(A) (B)
(a) Slaked lime (i) Calcium oxide
(b) Table salt (i) Sodium bicarbonate
(c) Limestone (iii) Calcium carbonate
(d) Caustic soda (iv) Calcium hydroxide
(e) Quick lime (v)  Sodium hydroxide
(f)  Baking soda (vi) Sodium chloride
1) @)-(vi), (0)-(ii), (0)-(v), (d)-(3), (e)-(iii), (F)-(iv)
) @-(), (b)-(vi), (c)-(ii), (d)-(v), (e)-(ii), (F)-(iv)
©B)  @-(v), (0)~(v), (0)-(iid), (d)-(ii), (e)-(i), (F)-(vi)
@) (@)-@v), (b)-(vi), (c)-(iid), (d)-(v), (&)-(3), (F)-(ii)
e A B fEu e yerelf 1 smiemm B # feu MU 3k THmafe A1 % e gHe wife
(A) (B)
(2) FROT () e sfEs
(b) H& THR (i) Hifeam AEHTeiE
(c) =IO (iii) FHfegaq wEe
(d) HiE® Grel (iv) hicHIH BESHTES
(e) ferrez = (v) WifeaH TEgEES
() Sfehm |l (@) (vi) HfETH FANES
1) @)-(vi), (0)-(ii), (c)-(v), (d)-(3), (e)-(iii), (F)-(iv)
() @-(), (b)-(vi), (c)-(ii), (d)-(v), (e)-(ii), (F)-(iv)
©G)  @)-(v), (B)~(v), (0)-(iid), (d)-(ii), (e)-(1), (F)-(vi)
@) (@)-@v), (b)-(vi), (c)-(iid), (d)-(v), (&)-(3), (F)-(ii)
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IMPORTANT / Wgwayqof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).

witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - 111 / 4191 - 111

SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.

f7&9T : frefarad ol @ S a7 & [o7¢ Wal aad 3qgerd faaheq g/

31.

32.

Torrid Zone on Earth receives maximum heat as :
(1) it is bounded by oceans

(2) the mid-day sun is exactly overhead

(8) rays of the sun are slanting here

(4) itisland locked

Yot T I hicdea & Gad 31fereh Fo1 9T A § T
(1) 9% HemrRi ¥ folr €

(2) IR H1 gF Sk o F FW AT ¥
3) Il gd = foRo foat et €
(4) T TIAES ©

India and Bangladesh are leading producers of jute. Choose the correct statements that support
growth of jute.

(a) It grows well in alluvial soil.

(b) It requires high temperature.

(c) It requires low temperature and low rainfall.

(d) It requires heavy rainfall and humidity.

Choose the correct options :

(1) (a), (b), (d) are correct (2) (b), (c), (d) are correct

(3) (@), (c), (d) are correct (4) (a), (b), (c) are correct

IRA AR IARY T8 (S[2) o ST IACH & | TeH i Jfg 1 a1 YSH HIA dTet HeHl 1 -
TS |

(@) ¥ Seile gal | 3= g1 9 faenfyd gar 2

(b) SH 3=F ATIHH i STERHRAT B © |

() 39 7= amomE ofR =t oot 6t stavashdr Bt ¥

(d)  TH IR Ut AR ST Y ST BNl

et fashed 1 =37 hifaT |
1) (a), (b), (d) W& 2) (b), (), (d) W €
3) (@) (o) (d) T E 4) (@), (), () T €

o~ o~

)
)
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33.

34.

Read the Assertion (A) and Reason (R) carefully :

Assertion (A) :

In 1960, the bilingual state of Bombay was divided into separate states for Marathi and Gujarati
speaking people.

Reason (R) :

In 1966, the state of Punjab was also divided into two States Punjab for Punjabi speakers and
Haryana for Haryanavi or Hindi speakers.

Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

SR (A) TAT SHIOT (R) I &9 9 T :

AR (A) :

1960 H fgoTet sTeig Wid bl ARGt TR TORTI ATt @il & ford S STemT-o1er T | ier 74 |
0T (R) :

1966 | wsTTel @1 off fauTsH < Ul | g1 | Ui, gSTrelt i o oy oI i, gt = fe<t s
a1l o few

freferfion & & Wt fased 9 -

(1) 2Fi(A) T (R) W&l € fFg (R), (A) ST e T2 |

(2) (A) W&l foheg (R) TTerd |

(3) (A) Ter & fereg (R) W

(4) T (A) T (R) T E 991 (R), (A) T TS FAT L |

Read the statements (A) and (B) carefully :

(A) : In 1817, James Mill published ‘A History of British India’ in three volumes.
(B) : In this he divided Indian history into three periods - Ancient, Medieval and Modern.
Choose the correct option of the following :

(1) Both (A) and (B) are false (2)  (A) is true but (B) is false

(3) (A) is false but (B) is true (4) Both (A) and (B) are true

FHeAl, (A) TAT (B) I =99 § TS -

(A) : 9 e 7 1817 ® ‘¢ et ot fafew sfean’ T winl & wemifm foran

(B) : T IR URAT 3@ 1 dF Frell - i, 9 iR enyfaek § wier ¥
foreiferfiad & 9w foshen 9 -

(1) 3 (A) T2 (B) T § | (2) (A) T ¥ foeg (B) TTorel |

(3) (A) TTerd ® fereg (B) W (4) 3 (A) T2 (B) R T
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35.

36.

37.

Ladakh is also called Little Tibet due to :
(a) Geographical proximity (b)  Religious similarity

(c) Similar cuisines (d) Linguistic similarity
Choose the correct options :

(1) (b), () and (d) (2) (a), (b) and (d)
(3) (@), (b), (c) and (d) (4) (a), (b) and (c)
F FHRO ARG 1 BT fasad off Fgd 2 |

(a) N A= (b) wfier T

(c) HHM HSH (d) TS FHE

WE faeheq &1 =994 Sifs |

(1) (), () () 2 (@) () 3R (d)
(3) (@), (b), () 3R (d) 4)  (a), (b) 3 ()

The atmosphere is a thin layer of air surrounding the Earth. What keeps the air to remain around
the earth ?

(1) Heat of the sun (2) Rocks and oceans on the earth

(3) Gravitational force of moon (4) Gravitational force of the Earth

gealt & =R SR Telt a1g ol Iel I i SRS had § | 3 =S a1 Sl geA o 9 SR 9 W& § ?
(1) I & T (2) gt W EeeH 3R HEMIR

(3) @i 1 HETRH o (4) 9= T TEETRH o

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Dadabhai Naoroji, one of the great leader of Indian National Congress, never become the President
of INC.

Reason (R) :

He was a businessman and publicist settled in London and for sometime a member of the British
Parliament.

Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

AR (A) T HROT (R) I &1 § I¢

Afme (A) :

TS ASH, S o YR TS G & o A &, F oft IR UL Hild & 31eqe] T2 o |
<h T (R) :

g AR 3R AR 91 d ded H wd 9 3R F9 g % fou fafon dug & gem= oft i
frfatea & 9 @& fased T4 -

(1) < (A) T (R) T2 § T (R), (A) 1 AT Tl L |

2) (A) T T fFg (R) Ted |

(3) (A) T B TR (R) W |

(4) <HI(A) T (R) §&I € 91 (R), (A) T STEA HIA T
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38.

39.

40.

Which one of the following is not true regarding Hindustan Socialist Republican Association (HSRA).
Choose the correct option :

(1) It was founded in 1928 at Firozeshah Kotla in Delhi.

(2) It was founded in 1928 at Amritsar in Punjab.

(3) Members of the HSRA assassinated Saunders, a police officer.

(4) Bhagat Singh and his comrades founded this organisation.

g gmfere fafsaeat TEfawe (TETE.3RT) & 9k § frafafad § § SF-91 weH 928 8@ € 2
F’a‘\'ﬁw?\lﬁ
1) 1928 H fooeit o TSI Sl § SHHR! T B8 |

(1)
(2) 1928 § UTE o STHAER H THeh! AT T8 |
(3) TA.THSRT & FeHl 7 Wied A Jfaid STHE i T i off |
(4) v fog 3R 3 Shifdhit TR 3 SHeh! TATIAT i off |

Winds blow dry leaves down the pavement. How do winds blow ?
(1) Movement of air from low pressure area to high pressure areas.
(2) Movement of condensed air.

(3) Movement of plants and animals.

(4) Movement of air from high pressure area to low pressure area.

o Tg W Rl gEt ufeei =l Serdt €1 vad HY wedt 7 2
(1) 9 <@ &9 | =3 I &5 hl 3 TR H i |
(2) Hufd arg =t Tfd |

(3) Ul 3R Sfra-sigat =t T |

(4)

4) I=a @ &3 9 =1 I &5 i AR Ay o |

The earliest evidence of growing crops like wheat and barley are located in which one of the
following places ? Choose the correct option.

(1) Malabar hills (2) Sulaiman and Kirthar hills

(3)  Nilgiri hills (4)  Garo hills

e St S e I % gage wied frefated § 9 fhe T | frol € 2 wé fashed w1 g |
(1) wreR feed (2) g IR fer feed

(@) afi feew (4) TN feed
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41. Read the Assertion (A) and Reason (R) carefully :
Assertion (A) :

It was during Shah Jahan's reign that the different elements of Mughal architecture were fused
together in a grand harmonious synthesis.

Reason (R) :

His reign witnessed a huge amount of construction activity especially in Agra and Delhi.
Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

FUHAT (A) T THIUT (R) Tl &AF 9 TS :

fme (A) :

SMeSTal o IHFehTel o SR TITe argehell & fafi= qel T Yo7 gETTd |verm § o T |
<hIUT (R) :

Sk e H e Faior e Ferd T, foeiw w9 & SR iR feeedt # |

Foreerferfiad § 9w fosed o -

1) <Fi(A) T (R) & € fRg (R), (A) St e T2 & g |

2) (A) 9@ & fohg (R) T |

(A) T © TR (R) TR |

3T (A) TS (R) T § 991 (R), (A) T SIAT LT © |

3

(
(
(
(4

)
)
)
)

42. Read the statements (A) and (B) carefully :
(A) : In 1770, a terrible famine killed ten million people in Bengal.
(B) : About one-third of the population was wiped out.

Choose the correct option of the following :

(1) Both (A) and (B) are false (2)  (A) is true but (B) is false
(3) (A) is false but (B) is true (4) Both (A) and (B) are true
FHeAl (A) AT (B) hl &M 9 Tg :

(A) : 1770 ® ST H Weh WA 3T o TR Teh HAS RN ohl AR STell |
(B) : 39 3ThTcl H ST hl Teh-faeTs STaSt & &1 T8 |

freferfea o & @ fowes 99 -
(1) THT (A) T (B) Teidl & | 2) (A) T& ¥ foh=g (B) Ted |
(3) (A) Ta ® foheg (B) W | (4) < (A) T (B) T ¥ |
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43.

44.

45.

Read the assertion (A) and reason (R) carefully :

Assertion (A) :

Tribes have rich and unique cultural traditions including their own language and music etc.
Reason (R) :

Land, forests, grasslands and water are regarded as the wealth of the entire tribe and everybody
shares and uses these together.

Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explains (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

YUY (A) IUT HIOT (R) Tl &1 § 9¢

RS (A) :

STt ot GG oeh-TRId TSre SHeht AT e G oft Snfhe € 9gd 995 qen fafere 2t €1
&HTUT (R) :

ST, SiTTe, ST o TS a9 9T G FeAel R SR " S § | FSeRT SR gt e wne fresast s
g

Sefeifet 5 T e g

(1) TFi(A) T (R) T& € fFg (R), (A) ST =0 T |

(2) (A) TE ¥ g (R) Tord |

() (A) @ § =g (R) S&T |

(4) <HI(A) T (R) F&T € 91 (R), (A) T AT Ll © |

‘Periyapuranam’, a Tamil work informs us about whom ?
(1) Scholars and poets (2) Ordinary men and women
(3) Soldiers and military generals (4) Kings and queens

‘YfaTRom’, Tk qffel Hid T fReeh IR § SHERT <t 2
(1) fogmHl &R wfad & I & (2) ETHRY gEul iR wfeened & IR #
() foufe iR -l F IR H  (4)  Tonsi iR i & IR

Our solar family consists of following celestial bodies :
(1) Satellites, Planets, Pole star

(2) Sun, Planets, Satellites, Asteroids, Meteroites

(3) Planets, Satellites, Asteroids, Saptarishi

(4) Constellations, Planets, Sun

TN GR uRar frefafed et fisi @ o g :
(1) 3IE, g, gd a1

) 1:1:5[’ Uz, 3WUE, i, IehIue

(3) VT, SUUE, &&UE, HTRIY

(4) TeeEESd, U8, 4o
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46. Lines drawn on a globe are known as latitudes and longitudes. What purpose do these lines

serve ?

(1) To locate places on earth

(2) To beautify the globe

(3) They are furrows on earth and indicate physical features of the earth
(4) To make designs on globe

Teh Toe W T TE X@ei ey SR SR % ® H S S0 g1 A W R ST hl G w2

Jeaft T T I ger & ford

Tellel ohl G oM <k ford

3 geaft W gY@ § don geat ot ifen fagroaneti 1 $ia e §
el W et s & ford

47. The book ‘Stripurushtulna” was written by which one of the following reformer ?

1
2

(1)
(2)
(3)
4)

4

Veerasalingam Pantulu
Tarabai Shinde
E.V. Ramaswamy Naicker (Periyar)

Pandita Ramabai

" Siqede’ e Qe i Tl Ffafead 3 9 fha gures gra sl T8 of ?

aRfeT™ 99

AR e

2.2l TS T (W)
dfedr e

48. What makes an object or substance a resource ?

(1)
(3)

Utility or usability (2) Extraction

Discovery of object (4) Purification

11 <1 fordt a%g STere qaTel Rl HHIEE S § 2

(1)
)

ST STerel Yl 2) frertm
g @ 4) AfgH

P-IT ([ RRTRT A nm 41 N



49.

50.

51.

52.

Reasons and Assertions :

Assertion (A) :

Stereotypes prevent people from doing certain things that they are good at.
Reason (R) :

Stereotypes stop us from recognizing unique qualities and skills in individuals and fit them into
one pattern.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
Tk 3R SR

AFUHIT (A) :

wigag URUMT AR ol TH 10 T F Adhd! § Fo7H 3 3= T

e (R) :

Figeg YRUTE g6 =fad o 3T Tl IR HIeret S <@ 9 Tk € 97 3¢ Tk & IR & @i § 9 <l
g

W& forhed sl == S|

(1) (A) 3R (R) S T € A (R), (A) F T A T S

2) (A) 5§ T (R) e T

() (A) 7o § % (R) T T |

(4) (A) 3R (R) I W&l € T4 (R), (A) T T&l AT T

The true representative model of our Earth is :

(1) Satellite image (2) Rugby ball (3) Globe (4) Map
AR geal 1 SRafereh feush qfaey ®
(1) SHRITw o (2) T (@) T (4) wHAMA

The Child Marriage Restraint Act was passed in 1929. According to this Act, what was the respective
minimum age approved for marriage, for men and women ?

(1) 18 years and 16 years (2) 21 years and 18 years

(8) 17 years and 15 years (4) 20 years and 18 years

1929 # e faarg fuy stfufrem wiia foman a1 sq sfufTag & A7aR gew e afeen & fag st i
A 3T hH: fohal Tt T ?

(1) 183 qur16 a4 (2) 2159 qur18 TH

(3) 1739 qun15 T4 (4) 20@d quT18 TH

The diseases that spread from one person to another through water, food, air etc. are called as :
(1) Communicable diseases (2) Acquired diseases

(3) Congenital diseases (4) Genetic diseases

J Sl St Uk e 9 e Al Sl - W, o, 91 st | e € 9

(1) FaRUiE shofEr wed € (2) SIS shwnfal shed €1

(3) ST ST hed & | (4) STETeTR SEIRET Fed
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53.

54.

Choose the statements that explain the Ganga-Brahmaputra Basin in Indian subcontinent.
(a) Coniferous forests grow in this region.

(b)  The Basin lies in sub-tropical region.

(c) The area is dominated by Monsoon climate.

(d) The basin area has a varied topography.

Choose the correct option :

1) (), (0 (d) (2) (@) (b) (d) 3 @ (9 (d) 4) (@) (b) (9)

ARG ITHGIGY | T-SIeTYs Jf ohi SREAT i el THA I = hiTeIC |

a) 39 WU H WFHHR o I T

b) Ie ST s § feera ¥

c) 39 & % T EAd: WA
d) afgT &= o fafi= yoR =+t Tremsfa T

1) (®), () (d) (2) (@) (b), (d) ®) @ (© @ 4) @ (b)(©

The prairies are known as ‘Granaries of the World’. Select the conditions that help in production
of surplus wheat in this region.

(a) People do not use technology here.

(b) People are very hardworking here.

(c)  Scientific methods of cultivation are used here.

(d) There is a lack of rainfall in this region.

Choose the correct option :

(1) (b) and (c) are correct (2) (a) and (d) are correct
(3) (c) and (d) are correct (4) (a) and (b) are correct
Tardt 1 ‘forea o1 o oft wed B 1 9 wew H stefues A W Scared H wers ufkfeufad @ g
HifST |

(a) T AR WA 1 SHRNT el id €

(b) T AT aga aRgH B ¥

(c) i =t Sten fafer et =7l v fopan e €|

() THURY H gul HI HH T

| fasmeq o1 =31 wifsw )
(1) (b) R () W& 2) () 3R (d) T ¥
(3) (o) 3 (d) WA € @) () 3R (b) T E
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55. Which of the following statements help in sustainable development with reference to present day
resource availability ?

a) Reducing consumption of resources

()
(b) Increasing resource use
(c)  Recycling resources

(d) Reusing things

Choose the correct options :

1) (@) ®) () 2) (), (©) () ®) (@) (b)) ) @ (© @

freafafad # ¥ hH-T1 heF Id9H 993 & G918 YUl o Tef & 91 Taquiuiy faed H g
A & ?

(a) HEEEl ! @A I HEA
(b) HEEE % 3w H iy
(c) HEHAl w1 YA: THUI
(d) g 1 I TR
W& fosed &1 =91 HifT |

56. Railway network is now extensively being built in mountainous areas. Select the most suitable
reason.

1) Mountains are highly eroded.

3) There are advanced technological developments to enable it.

(1)
(2) Mountain people are making railways.
)
(4)

It is easy to construct railways in mountains.

RISl &5 H o7 Yo o faeqa Fmior & Wi g1 317 SUge Rl ol = hifere |
(1) TS Hel- &I €|

(2) TRTE! T YeTHE ol o W) |

(3) 39 H9a w F foIw 3=7a et 1 faem gam T

(4) TeTSl B Yol 1 i ST g )
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57. Read the assertion (A) and reason (R) carefully :
Assertion (A) :
The Mahalwari settlement for revenue collection was introduced by Holt Mackenzie.
Reason (R) :

The charge of collecting the revenue and paying it to the company was given to the village headman,
rather than the Zamindar.

Choose the correct option of the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

AR (A) T HROT (R) I &1 § I¢

fwe (A) :

[T TYAT SHTET  HETTaR] SIaler&d ' hl Y& diee Hehsil o hi off |
<h T (R) :

TS S T HET dh TH TgaH i FTHERY a6 J&M i < T 7 o SieR @6 |
foreferfiad § @ o foed 9 -

(1) =Hi(A) T (R) T8l T, g (R), (A) T AT & L |

2) (A) F& © R (R) T |

(3) (A) @ § TR (R) S&T |

(4) T (A) T (R) & § T (R), (A) T AT AT S|

58. Read the statements (A) and (B) carefully :
(A) : The Veda Samaj was established in Madras in 1864.
(B) : It was inspired by the Arya Samaj.

Choose the correct option :

(1) Both (A) and (B) are false (2)  (A) is true but (B) is false
(3) (A) is false but (B) is true (4) Both (A) and (B) are true
FHeFl (A) AT (B) hl &M 9 Tg :

(A) : ‘O FHN T TATIT 1864 H HE™ H T8 |
(B) : 9T THN, 3T WS § URA e

freferfaa & & @ fowes 99 -
(1) THT (A) T (B) Teidl & | 2) (A) U@ ¥ foh=g (B) TTed |
(3) (A) Ta ® foheg (B) W | (4) < (A) T (B) T ¥ |
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59. Which of the following ideas was questioned by people from the seventh century
onwards ?

(1) All human beings are equal at the time of birth.
(2) One could break the cycle of rebirth through personal effort.
(38)  Social privileges are a result of one’s birth.

(4) Only human beings pass through countless cycles of births.
Il srareal & YR 9 Fefafed § § form foamr @ ari 3 Fare 38 ¥E o fean?

(1) =t Ef S % THT 9EE 2§

(2) AT TS ¥ YAS % 5§ PEhRI IR ST Hehdl © |
(3) G fasrmfusR fardt s <=7 o1 9ioms )

(4) IS S S Sfe % ST =h 9 ToId ¢ |

1

2

4

60. Which of following two gases make up the bulk of the Atmosphere ?
(1) Carbondioxide and Oxygen (2) Nitrogen and Oxygen
(3) Ozone and Helium (4) Nitrogen and Hydrogen

frefafeaa & @ agHea 1 tfeisr «F 9t < 19 €2
(1) EA SEAES IR RS (2)  AEesH iR sifeisH
(3) WS 3R Eiferam (4) TEENH AR TESSH

61. Which of the following is/are features of a project work ?
(a) They provide opportunity to the students to go beyond the textbook.

(b) A project work should ideally be done at home so that there is more time for teaching in
class.

(c) A group project helps develop collaborative skills in students.

Choose the most appropriate answer :

(1) (a) and (b) (2) (a) and () (®) (b) and (c) (4) Only (a)
frefafaa § 4 SH-91/9 g o 1 fafered fafmead &/ 2

(a) e faenffai 1 qrergeass & T S 1 ekt <ot T

(b) TRASHT ®FE =R T B LA AMMeT MMk her § Freror o fow sifue wwa fiaa ¥ |
(c) wmfes gfEsT s faenfl # gedimaes wivra & fowm § veg & T

T2 Iuger forhed g -

(1) (@) R (b) @) (@) () () () SR () (4) F (a)
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62.

63.

What is the advantage of field work as a method of social science ?

(1) Develops skills of presenting, proposing and arguing
(2) Helps to memorize facts

(3) Helps in testing knowledge of the students

(4) Provides students first hand knowledge

TSR fo ot Usfad & ®9 H &3 1 (Wies dh) & F A § ?

(1) &I LT, & HEAT 3R Toh A o DI faepfad i g |
(2) A H A< @ H TGS Bl T
(3) forenfef=i < I Tdiero § HEg Ll §

(4) B H TIH I ILH FL S|

Which of the following is most appropriate for reducing curricular load of Social Science
syllabus ?

(a) Minimising the emphasis on memorizing facts and focus on comprehension.
(b) Focusing on conceptual clarity.

(c) Skipping certain topics from the textbook based on exam directives and teacher’s lacks of
familiarity with the theme.

Choose the correct option :

(1) Only (a) and (b) (2) Only (b) and (c)

(3) Only (a) and () 4) (a), (b) and ()

e foaM TISTshd & IR 1 H & & fau fefafed § 9 o1 99 Suged § 2

(a) Tl ok TR W IATH 91 oA 9T FHFH T hfgd BT

(b) HhTUT o TR Tl Hixd KT

(c) e faen o 3MuR W iR forerer & fovgeg ¥ ST % RV TISIgES % $9 fawd @ sie
G|

WE TIheT 1 =TI FIT |
(1) e (a) 3R (b) (2) ke (b) 3T (c)
(3) Had (a) 3 (c) 4)  (a), (b) 3R (c)
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64.

65.

Reasons and Assertions :

Assertion (A) :

Many cases of farmer’s suicides have been reported from villages in India.
Reason (R) :

Failure of Monsoons and inability to repay loans leads to distress among farmers.
Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
Toh 3R eAfyeRe

AR (A) :

YRA & el 9 fRErT o e sTeAgen & A O fhe 7w €

e (R) :

YA T 21976 3T st (0T b1 UM i I8 foRami | g@i 1 SR ot |

|E fasmeq =1 =99 sifew)

1) (A) 3R (R) S W& € WA (R), (A) T TEl A 7 7 |
) (A) ¥& T T (R) 7o S|

() (A) oA § T (R) T 2

@) (A) 3R (R) < T& € 9901 (R), (A) I GE AR R

Which of the following is not a characteristic of continuous comprehensive evaluation ?

(1) It focuses on all-round development of the child’s personality.

(2) Itincludes an assessment of scholastic as well as co-scholastic aspects of the students growth.
(3) It focuses on marks based evaluation of student’s work.

(4) It makes evaluation an integral part of the teaching-learning process.

frefafed § ¥ HH-91 Fad iR =9 qodish i e 7@ © 2

(1) I faenet % safaae % wafior fawm w i 2

2) = fomneft % Hferer faepra & e we-Nfersk Teqed w1 ot TreRe wr T
(3) e fomneft & ofe aMaRa e Yoo T hisd €|

(4) ¥ Yo o fneror-ifenmm wfskan w1 tfy= S o 7
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66. While evaluating social science the following questions will help to understand its
objectives :

(a) What skills are emphasised in the syllabus ?

(b) Is it derived from a standard text or combination of texts ?

() How detailed is the outline of syllabus ?

(d) What level of competence is demanded of learner on each social science skill ?
Choose the correct option :

1) @and(@ () (@) Gand(© () () b)and(d) (@) (a)and (b)
IS foe % geiena & <R frefafed ge 5o seva gag | e w3

(a) ISISRH H R wiwrell W ot femn wen ¥ 2
(b) I IE FRE T A TISagETE 9§ o T A1 S Ieagwiehl 9 ?
(c) TUISIHH i T ferat foeqga €2

(d) SRR | WIS faeM % g e § fhe T st wermar oTifed 7 2
TE e 1 =9 FifT |
1) @M @ @O @) @ O @ @FRE

67. Why do elections take place after a fixed time interval in democracy ?
(@) To ensure accountability of the government
(b) To ensure equal political participation by the parties
(c) To encourage political debate and public dialogue
(d) Itis a customary practice
Choose the correct options :
1) () () and (d) () (a), (b) and (d)
(3) (@) (), © and () (4) (a), (b) and (©)
Trehd H ek ffYea w0 Siatel < a9 € oA 6 B © 2

(a) HHR I IAEIAE GHfTEd w3 & fou

(b) <l S HAW TsHIfden et gifea e & fag

(c) USHIfdh ame-faarg qen S Gere sl Uiedifed i & fag
(d) IE TH FUNTT Uik §

TE ST I =TI HIFC

(1) (b), () R (d) 2 (), (b) IR (d)
(3) (@), (b), (o) ¥R (d) 4) (@), (b) 3R (o)
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68.

69.

Assertion (A) :

Teaching of social studies is important at the elementary stage.

Reason (R) :

It sensitises the child to social issues and develops in him/her a respect for difference and diversity.
Choose the correct option from the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

AR (A) :

TR TR TR g foam &1 e mewegul 2

e (R) :

g a1 HIATTSTeh HIHEH o i HoaTeiet s © ae Se f=Tar ud fafasr & fog @ faefea s
€|

fr=afafea & 9 9ér fases &1 =97 *ifva

(1) (A) 3R (R) I W&l T T (R), (A) T =A@ Tl 3l |

2) (A)HE ? T (R) T T |

() (A) 7Ted ® T (R) & T

@) (A) 3R (R) A T € 991 (R), (A) FT HRAT BT L |

Which of the following is true about sources ?

(a) They are more concrete in nature

(b) They are all historical in nature

(c) They are objective

(d) They include accounts of eye witness and personal letters
Choose the correct option :

1) @and®) (2 @ Gand(© () () (and(d) @) (a)and (d)
Fre 4 = T S AR A 2

(a) & ATk 39 YTd & e §

(b) & Tt Uferfas ypfa & 8 €

() d I3 edE

() o yoecliEl % SR iR Sfaa v o wnfre €

& faomeq =1 =99 sifsq)

(1) (a) R (b) 2 @, (b)) (@) (@), (A @ (a) AR
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70.

71.

Two Fundamental Rights which the marginalized groups can invoke, to insist that they be treated
with dignity and as equals, are :

(a) Right to Equality

(b)  Cultural and Educational Rights

(c) Right against Exploitation

(d) Right to Liberty

Choose the correct answers :

(1) (b) and (c) (2) () and (d) (3) (a) and (d) (4)  (a) and (b)
3 Hifer 2ifeR et B W BRI 998 96 < Hhd €, e 33k Wy off T @R e
=er fohan S, o g

(a) HHMAT A1 STRIHR

(b) WiEpfaw IR Jeftrk AfER

(c) ¥ % foaeg sAfuhr

(d) EEIGST T ATRR

TE I H =T RIS

(1) () ¥R () @ @@ G @G @ @IRE

Identify the immediate measures which ensure women’s safety and enable them to take up jobs,
support family income and in becoming self-reliant.

(a) Provision of child-care centres

(b) Reservation of seats for women in parliament

(c) Provision of occupational safety

(d) Pick and drop facility for night shifts

Choose the correct option :

(1) (@), (© and (d) (2) (@), (b) and (d)

(3) (@), O, (© and (d) (4) (@), (b) and (©)

3 qcehifcieh ST ohl IEAM ohiTaT ST Afgerell ohi Y& TAT I AR i, TRAMRE 1 H IFRH Hid
T etk s § giafvea o 7

(a) SISl 1 YTEE™

(b) WS H Afgansll o fau el 1 STRef

(c) SHEHIFh Y& hl TredH

(d) TdH urel (Rree) o faw am-o ST 6t gfaen

WE TIhed 1 997 T |
1) (@), () 3 (d) 2) (a), (b) R (d)
3) (@) (), () IR (d) 4)  (a), (b) 3R (c)
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72. Consider the following Assertion (A) and Reason (R) and choose the correct option :
Assertion (A) :

The disciplines that make up the social science are history, geography, political science and
economics.

Reason (R) :

There is interrelationship between the disciplines.
(1) Both (A) and (R) are true but (R) does not explains (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

11 USRI (A) T S/IOT (R) T fT=aR & o1 W&t foered 1 =97 Fifsie :
AFRAT (A)

foren faer s wrfSte fomm &1 s € 9 € sfoem, i, Teiifaes fomm qen srefeme |

T (R) :

T forn faerel & sfq:dey ¥ |

1) (A) 3R (R) I HE € T (R), (A) FT AT & HIA 7 |
) (A)a%‘r%w(lz)nm%|

(3) (A) 7T § W (R) TEl g
@) (A) 3R (R) A T € 991 (R), (A) FT SHRAT BT 2 |

73. Fill in the blank with correct option.

An alert and vigilant public is necessary for developing a strong

(1) Democracy (2) Oligarchy

(3) Autocracy (4) Monarchy

R T 1 W&t foshed 9 1’|

Th 32 o1 famm® = & fau a2 TS ST A6 B
(1) ks (2) T

(3) THRIA (4) TSIAA

P-XT {IARIRT DA nm 52 N



74.

75.

The distinctiveness of Adivasi societies is attributed to :

(a) prevalence of caste system

(b) practice of a range of tribal religions distinct from other prevalent religions
(c) distinct language use

(d) presence of little hierarchy

Choose the correct option :

(1) (b), () and (d) (2) (), (b) and (d)

(3) (@), O, (@) and (d) (4) (@), (b) and (©)

arTfeare TSt fafired 1 491 S e

(a)  Sf SHerE & Yerer <hl

(b) TH g gHl | 9=, Tk YhR o SIS €Hl & qrerd <hl
(c) Taftre s o v

(d) FF-= H A Iufefa @

WE IR F =TI HIC |
(1) (), () ¥R (d) 2)  (a), (b) 3 (d)
3) (@), (b), (c) ¥R (d) 4)  (a), (b) 3 (c)

The Indian judiciary upholds the rule of law, without any fear or external influence, and maintains
effective control over the actions of the government because of :

(1) Independence of judiciary in India

(2) Judicial activism

(3) Democratic values enshrined in Indian Constitution
(4) Supremacy of judiciary in India

IR =AaTfereht foT fohelt 91 S7eran Smedl Taal o ST ol IMEF i &7 S § a1 THR & FHEl |
JTelt fisrr ST T § et aee

(1) RA H =AU i Tl

(2) IR Hishaeg
(3) R Hfaum H gfasia dehdiiIen Jod
(4) YRA H AT i Faroadl
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76.

77.

It is possible that there might be students belonging to marginalised sections in your class. So,
when you are talking about the notion of marginalisation, which of the following things should
you keep in mind before introducing the topic ?

(a) Taking names of particular communities might cause discomfort to those belonging to those

communities.
(b)  Such issues need to be handled with sensitivity.
(c) Some students might feel shame in talking about their experiences of discrimination.
(d) Students should be forced to share their experiences.
Choose the most appropriate option :

(1) (a) and (c) 2) (@), (p)and () (3) (a), (b)and (d) (4) (a)and (b)
TG Gd § T 3Taeht shen § I Ter & 91 ot 9, Safert ST 319 ST W el H o1 Y @ o
@ fowra g&qd hxd g stvenl fefafaa § 9 foa =l <1 o v =nfee ?

(a) T FUGHE! 1 TH TH T I THSHI § ST AN 3THES Fegd il Hohdl © |

(b) 39 W& % HEI ol HagAeiierdl § eI =1feT |

) TS B A WY L ASHE 1 HET A | AT TogH L T € |

(d) fo=nfoid @ SR 319 STIve |igh KA1 A

o Suger foreshed 94 :

(1) (a) T () 2 (@ ®TA() @) (@ ()T (4) (a7 (b)

Consider the following assessment questions (A) and (B) related to the working of the state
government.

(A) : What is the purpose of a press conference ? How is it different from a Legislative Assembly
debate ?

(B) : What is the term used to refer to elected representatives who are not members of the ruling
party and who play the role of questioning govt. decisions ?

Choose the correct option :

(1) (A) tests factual knowledge whereas (B) tests conceptual knowledge.
(2) Both (A) and (B) test conceptual knowledge.

(3) Both (A) and (B) test factual knowledge.

(4) (A) tests conceptual knowledge whereas (B) tests factual knowledge.

T TS i HEAYUIE § Hafed fH=fafaa stehed J94 (A) a1 (B) W fa=ar &L |

(A) : FTETdl 1 1 32T BT & 72 A Taumme § 29 arelt 9w 9 fhy aie o1 § 2

(B) : = fraifea wfafaferi o faw forg wsg o1 7 21 € S o< S & I= 7 2 q SRR o e
T HaTd 38 ¢ 2

HE fashed &1 =534 Sifsu |

(1) (A) qEAEE T ht S" Hl § SeA(h (B) Gehea cdw JM i |

(2) THI (A) T (B) HheTATHS T i 9 H T |

(3) THT (A) T (B) AT T i Wi Tl i ¢ |

(4)  (A) HheUAIHS A i SiT= AT § TE(E (B) TEAHE FE i |
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78.

79.

At which stage of school education as per NCF 2005, are social science topics independently
introduced to students in textbooks ?

Choose the correct option of the following.
(1) Upper Primary Stage (2) Secondary Stage
(3) Higher Secondary Stage (4) Primary Stage

THLTH. 2005 % FTER, Thedl e o fohd T X griisies fagm & foeeii o0l @ds ®9 9 qreagsdenl §
forenfel=i © 9= = S 8 2

frfafed 5 9 98 fosed &1 =97 Sl :
(1) =3 grafAeh &R (2) WA R
(3) <o HEAHE & (4) HIfHE &R

Which of the following classroom activities will help students critically look at the role of media in
society ?

(a) Asking students to have a classroom discussion on the topic ‘can the govt. prevent certain
news from being aired on T.V ? Why might it do so ?’

(b) Asking students to bring clippings from different newspapers on the same issue and make
comparisons regarding how they have reported it.

(c) Asking students to collect news items they have received in whatsapp groups or through
social media platforms and using them as pedagogic resources.

Choose the correct option :

(1) (a) and (c) (2)  (b) and (c) () (@), (b)and () (4) (a)and (b)

frefafea § @ wF-H wan fafafy faenferi § wam § dife ot ftem &1 seremes gfe 9 e o

TG T ?

(a) ‘R TR foRelt T ol el W = | Uk ol © 7 98 UE1 7 bl 27 oo TS 51 el
H == e |

(b) Tordl T I W B h1 AT STEARI o Al Sl 33T HIAT 3R STk feR0T i g
1 el |

() BHE ¥ =eHTY IR 3T FeTel Hifed T TE ekl hl Tha HIEMT TN STHT V(01 THEH F €9
H SEHTA HET |

| fasreq =1 =99 sifew)
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80.

81.

Which of the following statements are true about inquiry approach ?
a

b

(a) Itencourages problem solving skills.

(b) It helps find ways to gather and evaluate evidence.

(c) Teacher decides the pace of learning.

(d) Itis a quick way of learning.

Choose the most appropriate option :

1) ), ©@and(d) @ @ (@and(d) () (@and () @)
frafafed o § HH-9 FuT IR SUFH & He § §1 8 ?

(a) I TEEAST ol A 1 GHAS hl YcdTied HI |

(b) IT Wed Th{Ad o eI HIT oh qeh] 1 Il T H HEE hidl & |

(c) Tofemsm siferm =6t ifq 61 99 et B

(d) IT U et H HEH H1 T T
a9 3 fashed &1 =TI Hifew |

(@) and (c)

(a) 3T (c)

Following are some questions/comments that you have received from your students in a class.
Which question reflects the student’s ability to critically look at the issue of poverty and

inequality ?
(I)  Why can’t poor people work harder to improve their lives ?
(2) When will India become developed and get rid of poverty ?

(3) Why does government give free goods to the poor ?
lazy ?

Won't it make them

(4) Why is it that luxury cars and beggars can both be seen at traffic signals ?
et s/ feoafort e 7ot e e o fonfefl @ o &6t 8 1 3 | Hi-w e faeneff & st

J STEAMAT % G2 TR ST gfee i gfafeferd e & ?

(1)  TRIa AN 70 s fearfa gama & o iR sifuss fewa ot =i e ?

(2) IRA wd foreRfad BRM TR TRIe & o 2 ?
(3) TR RIS I R HH F Sl © 2 1 I8 I8 SATH] Tl o QI ?

(4) T i R e faam &R iR e <M1 %1 79 $fRs foa W SE 1d €2
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82.

83.

In Indian secularism, the state maintains a “Principled distance” with respect to religion. This
means that :

(a) State could interfere in religious matters on the basis of ideals laid out in the Constitution.
(b) State and religion can interfere in each other’s matters.

(c) State and religion cannot transgress each other’s boundaries.

(d) State can regulate religious affairs when need arises.

Choose the correct option :

1) Mand@ () @and(d) () ©@and(d) (@) (a)and (b)
IRATT GHfRyer 8, T3, o & ded H we ' Hgifas ' oA T § 1 g6 e ©

a) Wfaum # fSu T STeEl % SMUR W T Hftish el § SRad Y ekl ¢ |

b) T iR TH T F el B TR Y Gehd € |

c) T IR o TH TR Bt Hnsii 1 Ieersd & H Hhdl ¢ |

d) STITIhdl US4 W I Uit el 1 FRifa i gk €1

T foehed =1 =997 Sl

(
(
(
(

Many workshops and factories located in industrial areas employ casual workers because :
(@) They can hire and fire them according to their convenience.

(b) They save on salaries and other job benefits which are paid to the permanent workers.
(c) Casual workers work long hours without demanding overtime wages.

(d) Casual workers are more hard working as compared to permanent ones.

Choose the correct option :

1) () () and (d) (2) (a), (b) and (d)

(3) (@), b), (@) and (d) (4) (@), (b) and (©)

Areifiten &l o feord o8 sheam qen theefiEl o sreemeh afiyen! =1 wan S §, it

(a) o % I GRAATIR W@ iR Fehrer Tahd ¥ |

(b) o Tl HfHE I fae el dad qen o ARl Heeh foq el W 9= % )
(c) TRl wHt o gk o=l ) 9 fRT oo THF qoh T B F |

(d) TR HiHE S gor | ST st iy afig 2 ¥

WE faehed &1 =994 Sifsu |

(1) (b), () R (d) 2 (), (b) IR (d)

(3) (@), (b), (0) ¥R (d) 4)  (a), (b) 3R ()
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84.

85.

For teaching which of the following topics, a tree chart would be best suited ?

(1) Toillustrate the hierarchy of historical events in a particular era, such as wars, revolutions or
social movements

(2) To teach modern history
(3) Distribution of demographic variables such as age, gender, race etc

(4) To give summary of reign of a ruler
frafafaa & @ fra fawa & faeor & fag d-=i sifa oy wm ?

(1) T foum s # tfaeifas weeii, S g5, wifaal stuan s sTicer & TeHsd S afe
femm & fag

(2) 3Ny sl ggH % forg
(3) Y, S, T TS S SHHiEht =R o foawor & fag
(4) TS IMEFRE H G < & faw

The statement, ‘The Indian Constitution provides safeguards to religious and linguistic minorities
as part of Fundamental Rights” infers that :

(a) it protects minorities against possible cultural domination by the majority.
(b) it protects minorities from any discrimination by the majority.

(c) it safeguards minority interests.

(d) it guarantees economic opportunities to minorities.

Choose the correct option :

(1) (b), () and (d) (2) (@), (b)and (d)

(3) (@) (), © and () (4)  (a), (b) and ()

FeA, UG HigeE enfier SR 9T STeuHEAshl i TR T WaHH Hifern SRl | il &, I8
STEH o © o

(a) I8 TEHEIARI G HUIT iThideh T & THT STeTHETHI i L&l Hdl S|
(b) T IgHEIHI N fordll TE o ASHE § TSR] hi GL&T L B |

(c) UE ATUHEIh! o fedi i YRaT T |

(d) IT SACTEEIH] h A ST i TR YSH HIAT T

TE TIhed o1 997 IS |
(1) (b), (0) R (d) (2)  (a), (b) R (d)
3) (@), (), () IR (d) 4) (@), (b) AR (c)
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86. Assertion and Reason :
Assertion (A) :

Open-book exams shift the focus away from rote learning to a more involved engagement with the
textbook.

Reason (R) :

Open-book exams reduce the burden of students as they don’t need to prepare for the exam
beforehand.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(2) Only (A) is true

(3) Only (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)
AR TR HR

RUweA (A) :

et & T Whl T H gt fohamell & e Geie Tenfid i W hid el §
T (R) :

et qeaes gle faenfofi o1 uR & il 8 Fifer SO 3¢ I ot A Uee § el he g |
WE faehed &1 =534 Sifsu |

(1) <F (A) T (R) & ¥ G (R), (A) Y & AR Tel |

(2) A (A) TE T

(3) A (R) T ¥

(4) <M (A) T (R) T € 9901 (R) T ST HLT1  (A) i |

87. Which of the following statements is irrelevant representation of diagnostic evaluation ?
(1) They are conducted during the instructional process.
(2) They help to identify learning difficulties.
(3) They are usually followed by remedial classes.

(4) They are used for comparing the learning achievements of all the students in class.

frefafed § § HH-91 weH 7SS qedishd 1 ST o= § 2

(1) 8 Gerad e gfshan o SRH foran ST §1

(2) U HiEA | T areft TN ot Tea H Heg Al €

(3) I% UE: SYERI Heed % g fohan S €

(4) TR ITAN e & Gt fornfeidi R dielh Suaiferai & gor w1 § foRan S €
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88.

89.

90.

Which is the best method to teach the concept of ‘Insolation” ?

(1) Brain-storming (2) Demonstration (3) Survey (4) Case study

‘STAU’ BT STIRON UM 1 Yo TS kT i 91 8 2

(1) foeR-Hem (2) YA (3) T (4) w9 =S

Which of the following resources/strategies can make a social science classroom
inclusive ?

1) Teaching only dominant views of society.

3

(1)
(2) Avoiding examples from immediate environment.
(3) Encouraging only answers from textbooks.

(4)

4) Display of stories and photos of people from various communities and regions.

frefafed o ¥ -1 HE1EH/AUMHI Tk s fo=m i well S JHmeel s Tehd § 2
(1) had §S & 9@ fa=ari & faam|

(2) STHUH % IR0 § oo |
(3) had TSI ¥ IW <7 o fordl Wiedme &L |
(4) fafa= guem o) &9 & onll 6t Feifar SiR el T Yee e |

Identify a skill-based objective of teaching social sciences from the following options.

(1) To develop an ability to draw a map

(2) To develop a respect for difference and diversity

(3) To acquire knowledge of continents

(4) To understand the cultures of people living in different societies

= & 9, wrfSien fo g & hiviel SHid 3gevd i qe Y |
(1)  ToRN oM h1 &l forehfed e
(2) M iR fafaear & fau smex fowfaa &

(3) TRl 1 FH YT Tl
(4) fafr= TS § W 9ol Al ot SERfaEl Sl wEeE
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted
for ENGLISH as LANGUAGE-I only.

Read the given passage and answer the questions that follow. (91-99)

1.  We were walking across the garden when my daughter spotted a cluster of familiar red flowers.
She pulled me to one side and then, looking excitedly at me as though she had a secret to share, she
pulled me down to her height and whispered in my ears. I shot up straight almost as soon as she
had finished her sentence. With my mouth ajar, I was about to tell her that it was probably not a
good idea to do so when I was transported to the time when I was around her age.

2. It had been a rather long day from school and I was dead tired. I was walking along the pathway
that was lined with many ixora plants when my friend grabbed me by the arm. Before I could do
anything, he gleefully plucked a single flower from the cluster and showed it to me. Unimpressed,
I was not about to be swayed by a puny flower and was about to admonish him when he turned
the flower upside down to show me a tiny almost invisible thread-like thing that protruded out
from its stalk.

3.  He pulled the faint yellowish thread and right at the end of it, a tiny drop of nectar appeared. At
least, that was what I think it was, as it was really quite sweet. That day we raided the ixora
plants. We really had a lot of fun. I could still taste the sweetness till today. My daughter’s urgent
tug brought me back to reality. I turned to my daughter and decided that she too needed to know
the joy of tasting sweet nectar from beautiful blooms.

91. Identify the parts of speech of the underlined words.
I was transported to the time when I was around her age.
(1) adjective, preposition (2) noun, preposition
(3) noun, adverb (4) noun, verb

92. Read the following sentences :
Assertion (A) :
The child was excited to share a secret with her mother.
Reason (R) :
The mother was in disbelief and went down memory lane.
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) (A) is correct, but (R) is incorrect

93. In para 1, according to the mother it was not a good idea to :

(1) raid the ixora plants

(2) walk in the garden the whole day long
(3) walk along the pathway alone

(4) taste sweet nectar from flowers
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94. From the given anecdote, one can assume that the 2 characters shared the relationship of :
(1) mother and daughter (2) school-mates
(3) grandmother and grand-child  (4) Dbest friends

95. Read the following sentences :

(a) The writer is traumatised by the memories of her childhood.

(b) The daughter’s secret brings back nostalgic memories of the school days.

() The writer wants her child to be connected to the sweet pleasures of nature.
(1) (b) and (c) are incorrect, (a) is correct

(2) (a) and (b) are correct, (c) is incorrect

(3) (b) and (c) are correct, (a) is incorrect

(4) (a) and (c) are correct, (b) is incorrect

96. ‘to be transported in time’ means .
(1) toindulge in time travel (2) recollect memories of the past
(3) to take future decisions (4) travel backwards

97. Complete the word analogy :
cluster : bunch : : puny : _?

(1) colourful (2) prickly (3) long-stalked (4) delicate
98. ‘To be dead tired” does not mean -

(1) to be exhausted (2) to be completely exhausted

(3) to feel refreshed (4) to feel too tired to walk

7

99. ‘I was about to admonish him ....".

The underlined word can be replaced by the word -
(1) reprimand (2) refuse (3) cajole (4) appreciate

Read the given extract and answer the questions that follow. (100-105)
My tea is nearly ready and the sun has left the sky;

Its time to take the window to see Leerie going by;

For every night at tea time and before you take your seat,

With lantern and with ladder he comes posting up the street.

Now Tom would be a driver and Maria may go to the sea;
And my papa’s a banker and as rich as he can be;

But I, when I'm stronger and choose what I'm to do,

O Leerie, I'll go around at night and light the lamps with you

For we are very lucky, with a lamp before the door;
And Leerie stops to light it as he lights so many more;
And O ! Before you hurry by with ladder and with light,
O Leerie, see a little child and nod to him tonight !
100. Identify the rhyme scheme in lines 5 - 8.
(1) aabb (2) abab (3) aaba (4) abba
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101. Why does the poet consider himself to be fortunate ?
(1) He doesn’t have to light other peoples” doors.
(2) He has light at night by his door.
(3) He is strong and doesn’t have to make a choice in life.
(4) He has a rich banker father.

102. Read the following sentences :

(@) The poet occasionally has a light outside his door.

(b) The poet wants to be a banker like his father when he grows up.
(c) The poet is fascinated by the lamp lighter’s profession.

(1) (b) and (c) are correct, (a) is incorrect

(2) (a) and (b) are incorrect, (c) is correct

(3) (a) and (b) are correct, (c) is incorrect

(4) (a) and (c) are correct, (b) is incorrect

103. With reference to the poem, complete the word analogy :
Leerie : lamplighter : : father: ?
(1) driver (2) sailor
(3) Dbanker (4) rich businessman

104. The phrase, ‘the sun has left the sky’ indicates that -
(1) itis forenoon (2) itis afternoon
(3) itis evening time (4) itis morning

105. The poet looks at the lamp-lighter’s profession with -
(1) jealousy (2) curiosity (3) confusion (4) wonder

106. Remedial teaching is for :
(1) teachers who need to modify their teaching for certain student to learn the language.

(2) learners and teachers to understand and modify/improve their teaching/learning strategies.
(38) learners and teachers to enhance the scores in the examination in language paper.
(4) learners who need attention on certain aspects of language learning.

107. Shreya is a Class VI learner who moves from the Jalander in Punjab to Madurai in Tamil Nadu as
her father has been transferred. She knows Punjabi as her mother tongue and English language
she studies as her second language in school. She is able to speak and read Tamil learning from her
neighbourhood. Which one of the following statements is true based on the languages she now

knows ?
(1) Her Tamil comes under language acquisition and English and Punjabi come under language
learning.

(2)  All the three languages, Punjabi, Tamil and English under language learning.

(3) Her English comes under language acquisition and Punjabi and Tamil come under language
learning.

(4) Her Punjabi and Tamil come under language acquisition and English comes under language
learning.
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108.

109.

110.

111.

112.

113.

114.

115.

Which of the following is NOT the purpose of extensive reading ?
(1) Reading for extrapolation (2) Reading for learning grammar
(3) Reading for pleasure (4) Reading for appreciation

A method of teaching in which a teacher and four students form a collaborative learning group
with different roles. Dialogues occur on the content of the text passage, which creates a zone of
proximal development in which reading comprehension improves. This method is referred to as :

(1) Reciprocal Teaching (2) Structural Approach
(3) Model Reading (4) Grammar Translation Method

The language we use for day-to-day, face-to-face interaction is known as :
(1) Basic Interpersonal Communication Skills (BICS)

(2) Communicative language skills
(3) Interpersonal language proficiency
(4) Cognitive Academic Language Proficiency (CALP)

A learner reads through the news item in the newspaper to know specific information. This
reading is known as

(1) Skimming (2) Scanning (3)  Study skill (4) Critical reading

A teacher at the secondary stage gives a text/short story and asks them to read and discuss the
meaning and ideas of the text from the point of view of power and justice. What does the teacher
attempt to develop in the learners ?

(1)  Critical pedagogy (2) Critical language development
(3) Higher order language skills (4) Critical literacy skills

Procedural knowledge in the teaching-learning grammar is
(1) knowledge about the grammatical item.

(2) knowing the rules of the grammatical item.
(38) knowing the language and its culture.
(4) knowing how to do the grammatical item.

Which one of the following is true of the three language formula ?

(1) English/Hindi/home language/local language as the first language.
(2) Mother tongue/home language/Hindi as the first language.
(3) Mother tongue/home language/English as the first language.
(4)

4) Mother tongue/home language/regional language as the first language.

A language teacher tells a story in English and asks learners to work in group to tell the story in the
languages known to them and then in the common language of the classroom. What is this
pedagogical strategy known as ?

(1)  Multilingual policy (2) Multilanguage teaching
(3) Language acquisition (4) Translanguaging
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116.

117.

118.

119.

120.

Malayalam spoken by a particular community in Kozhikodi is slightly different from the Malayalam
spoken by others in the same place. What is the Malayalam spoken by the particular community
known as ?

(1) Regional dialect of Malayalam  (2) Social dialect of Malayalam
(3) They are two different languages (4) Two varieties of Malayalam

What is “interlingual identification” ?

(1) Learner’s judgment that something in the native language and something in the target
language are dissimilar.

(2) Learner’s judgment that the knowledge of the native language interferes in the learning of
second language.

(38) Learner’s understanding that learning of different languages warrants different abilities.

(4) Learner’s judgment that something in the native language and something in the target
language are similar.

Following learning task was given to learners in different groups. Find out what is this vocabulary
learning activity known as.

Find words and phrases which relate to the following words.

Relationship

(1) Word clusters (2) Cluster Vocabulary
(3) Word Web (4) Thematic Vocabulary

A teacher of Class VII conducts a pair work activity in which the pairs are given a story of ten
sentences. One in the pair reads out the first sentences and the other in the pair writes that
sentence. Then other in the pair read out second sentence and the first in the pair writes the
second sentence. Likewise the pairs complete the whole story. Later they compare their writing
with the original text given to them. What is this activity known as ?

(1) Mutual Listening (2) Sentence Dictation
(3) Mutual Dictation (4) Mutual Writing

Which of the following is NOT true of Sign Language ?
(1) Sign language is a natural language.

(2) Sign language does not have a grammar.
(3) Sign language has a grammar.
(4)

4) Sign language has many varieties.
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as LANGUAGE-II only.

Read the given passage and answer the questions that follow, (121-128)

1.

121.

122.

123.

The loss in earnings that farmers see due to extreme weather events or erratic seasonality is, by
now, accepted as the most widely felt economic impact of climate change. Farmers were the first
people to feel the impacts of climate change, which ultimately affects the country’s overall
agricultural output and adds to food inflation. High food prices, in turn, could result in people
slashing down consumption, which adversely impacts nutritional security.

A significant number of farming households produce food for their own consumption. These
households have given birth to an old saying : those who eat their own food are the healthiest. In
countries like India, where malnutrition is high and food insecurity is a nagging constant, such
households have used the home production system to remain out of this crisis. As studies point
out, these households are also protected from market fluctuations, thus ensuring that they can
afford healthy food. Obviously, they are not impacted by food inflation either.

But there are serious conversations taking place over how climate change-induced extreme weather
events would impact such households. We need to understand the link between nutrition intake
and household food production, and whether weather fluctuations would have any impact on
this. Researchers have analysed village level data from households with their own food production
and consumption, and co-related this with the local weather conditions to infer whether there
was a correlation. The paper establishes that people growing their own food consume more, thus
adding to nutrition levels and attaining overall food security. There was also reduction in child
stunting and underweight conditions as well as women achieving a normal body mass index.
These trends are more pronounced in remote villages.

Identify the parts of speech of the underlined words.

A significant number of farming households produce food for their own consumption.

(1) adverb, pronoun (2) noun, adjective
(3) noun, pronoun (4) adjective, pronoun

As mentioned in para 1, what is the series of events that are triggered by climate change ?

(a) increase in prices of food items

(b) detrimental effect on nutritional security

(c) extreme weather conditions

(d) reduced food consumption

(1) (9= @ —(d)—(b) (2) () = () = (d) —(a)
B ©— k)~ ()~ 4 @ = (= —b
Read the following sentences :

(a) A significant number of Indian households afford healthy food.
(b) Household food production has limited impact on food inflation.
(c)  Food insecurity is an occasional phenomenon in India.

(1) (a) and (c) are incorrect, (b) is correct

(2) (a) and (b) are incorrect, (c) is correct

(3) (b) and (c) are incorrect, (a) is correct

(4) (a), (b) and (c) are all incorrect
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124.

125.

126.

127.

128.

Which statement is incorrect with regard to household food production ?
(1) Food consumption in such households was higher

(2) Women enjoyed normal body mass index

(3) Increase in number of malnourished children

(4) Nutritional intake was better

Some households have remained out of the crisis of food insecurity by adopting -
(1) climate change conditions

(2) protection from extreme weather conditions

(3) home production systems

(4) high food prices

By which word can the underlined word be replaced in the given sentence ?

‘These trends are more pronounced in remote areas.’

(1) important (2) noticeable (3) ignored (4) disregarded
Complete the given word analogy :

local : global : : erratic: ? .

(1) consistent (2) disputable (3) dependable (4) Dbelievable

What is correct about the health status of farmers who take to household food production ?
(1)  Dbetter nutritional intake

(2) stunted growth of children

(3) women with higher body mass index

(4) children are malnourished

Read the given extract and answer the questions that follow. (129-135)

1.

129.

Untouchable, a charming French comedy about two friends who have almost nothing in common,
has been a huge international success. But before the story became a cinematic sensation, how
exactly did a rich French aristocrat and an Algerian immigrant with a criminal past become good
friends ? Philip and Abdul first met in Paris in 1993 when Philip was looking for a nurse. He was
from a very wealthy family. At one time he had been a successful business man, living a life of
great luxury. Then he had a terrible paragliding accident and lost the use of his arms and legs.
Life in a wheelchair was lonely and boring. Philip was struggling to imagine the future, and he
needed practical help with his day-to-day life.

Philip interviewed more than 80 people for the job of a nurse. But none of them seemed right.
Then he met Abdul, who had quit a life of crime in Algeria and moved to France to look for work.
He was lively, intelligent and quick-thinking, with a crazy sense of humour. Philip got on with
Abdul immediately, and he offered him the job. The two men didn’t have much in common.
Abdul loved pop music, but Philip preferred classical music. Philip loved modern art, but Abdul
hated it. Philip’s family was sure that he had made a bad choice. They believed that Philip needed
someone much more sensible. Meanwhile, Abdul wasn’t planning on staying in the job for long.
However, their working relationship quickly developed into a close friendship. Abdul gave Philip
the support he needed. More importantly, his energy and sense of humour brought fun and
excitement back into Philip’s life. Abdul helped Philip make trips to other countries. Both of them
now live in different countries, each with a wife and family. They keep in touch regularly. All that
really matters to their friendship, though, it is their shared love of laughter and adventure.

Which aspect of Abdul’s personality is not true ?
(1) He was quick-witted and supportive.

(2) He shared a close rapport with his employer.
(3) He preferred listening to classical music.

(4) He had a criminal past record.
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130.

131.

132.

133.

134.

135.

13e6.

137.

What bound the two very different men together for years ?
(1) warm friendship (2) love for music
(3) their immigration status (4) their love for adventure sports

Complete the given word analogy :
Luxury : opulence : : sensation : ?

(1) callousness (2) feeling (3) suspicion (4) disaster

Read the sentences given below :

(a) “Untouchable’ is a French comedy movie.

(b) The theme revolves around 2 friends, Philip and Abdul, who have similar tastes.
(c) The movie was a huge success in France and Algeria.

(1) (a) and (c) are correct, (b) is incorrect

(2) (b) and (c) are incorrect, (a) is correct

(3) (a) and (b) are correct, (c) is incorrect

(4) (a), (b) and (c) are all incorrect

Why did Philip need a nurse ?

(1) To help him with day-to-day practical things of life.
(2) To listen to classical music together.

(3) To resolve Abdul’s immigration status.

(4) To wipe out Abdul’s criminal past.

Abdul migrated to France to -

(1) run away from the Algerian police
(2) listen to pop music

(38) search for employment

(4) work in the movie industry

Identify the parts of speech of the underlined words.

However, their working relationship quickly developed into a close friendship.

(1) verb, adverb (2) adjective, verb
(3) noun, adverb (4) adjective, adverb

What is “Translanguaging’ ?

(1) It refers to understanding how languages change over the period of time.
(2)

(38) Itis language-in-education policy on how many languages are to be taught in a school.
(4)

Declarative knowledge is

(1) knowledge about the grammatical item.

(2) knowing how to identify an error in a grammatical item.
(38) knowing how to do the grammatical item.

(4) knowing to pronounce word in a language.
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138.

139.

140.

141.

142.

143.

144.

A teacher of class VI brought items like spoon, plate, utensils, boxes and pan to her classroom to
teach vocabulary from there writing a description of objects in kitchen. What are these objects
known as in language teaching ?

(1) Realia (2) Cooking items

(3)  Real life tasks (4) Teaching materials

Which of the following methods advocates oral drilling and ‘mastery of the formal properties of
language’ as essential for language learning ?

(1) Communicative language teaching
(2) Grammar translation method

(3) Total Physical Response

(4) Audiolingualism

Here is a question. Read and find out which typology of question it belongs to.

Having read the story of the little girl, you feel moved by her suffering and courage to face the
trouble. You would write a letter to the little girl appreciating her. Write the letter in about 120
words.

(1) Long answer question (2) Extrapolative question
(3)  Discursive question (4) Expressive questions

Which one of the following is true of the three language formula ?

(1) All children begin their schooling in their state language and move on to add at least two
more languages by the time they complete their high school.

(2)  All children begin their schooling in the official language, Hindi and move on to add at least
two more languages by the time they complete their high school.

(3)  All children begin their schooling in their mother tongue/home language and move on to
add at least two more languages by the time they complete their high school.

(4) All children begin their schooling in the medium of English/home language and move on to
add at least two more languages by the time they complete their high school.

Which of the following is NOT true of National Education Policy 2020 on language education ?
(1) Study of mother tongue/home language under three language formula.

(2)

(38) Study of English as language under three language formula.
(4)

Study of Indian languages under three language formula.
Study of a classical language under three language formula.

Which one of the following statements is true of language learning ?

(1) Knowledge of the native/first language has nothing to do in the learning of second language.
(2)

(38)  First language learning and second language are completely distinct.
(4)

Knowledge of the native/first language supports in the learning of second language.
Knowledge of the native/first language interferes in the learning of second language.

Learners in a class of Social Science try to capture the main ideas of the classroom lecture and
make point of the lecture. What is this skill known as ?

(1) Listeningskill (2) Writing skill (38) Cognitive skill (4) Study skill
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145.

146.

147.

148.

149.

150.

Which of the following processes involved for learning to write well in a language ?

(1) Braining storming - jotting down points - writing the draft - making an outline - editing -
finalising.

(2) Braining storming - jotting down points - writing the draft - editing - making an outline -
finalizing.

(3) Braining storming - jotting down points - making an outline - writing the draft - editing -
finalising.

(4) Braining storming - making an outline - drafting - jotting down points - editing - finalizing.

This refers to the proficiency in academic language or language needed for various content areas.

(1) Basic Interpersonal Communication Skills (BICS)

(2) Communicative language proficiency
(38) Cognitive Academic Language Proficiency (CALP)
(4) Inter-language proficiency

Elam is a student of class VII is able to speak four languages, Kannada, Marathi, Hindi and English.
He uses all the four languages freely when he speaks to his parents at home and in school he uses
Hindi, Kannada and English as these are the language known to his friends and teachers. What is
this practice known as ?

(1) Code-meshing (2) Code-moving
(3) Interlanguage (4) Translingual ability

Here is a situation where students were exposed to the opposite perspective of the subject under
consideration to allow them to further understand it. What does this process attempt to promote
among learners ?

(1) Process based pedagogy (2) Critical Literacy
(3) Literacy development (4) Critical analysis

A teacher in class VIII read out a text of five sentences in English twice and asked her learners to
listen to the text carefully. Then she asked them to work in group of four to recreate text nearer to
the one read out, not exactly the same. What is this activity known as ?

(1) Paragraph Dictation (2) Collective Dictation
(38) Listening task (4) Writing task

Learning Outcomes attempt to enable learner to :

(1) attain the competencies in measurable terms.

(2) attain minimum levels of learning of all skills.
(3) attain language components in measurable terms.
(4) attain the grammatical knowledge in measurable terms.
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Y-V
yIer - 11 R
WUl : ThEmel WET-V (WE. 121 | 150 ) & Tl & ISW haa 9+t § Al I HTer-11 1 forred
fest g 7l |

Trefeiaa TTensT sl Ugeht U® T U1 o Hel /Aaifereh SUdad fashed ahT 9@ hilag | (121-128)

B B T Hiehd ST & Teh MR <6l o @ & T ufas § =iaedl aeiHi ! siexd ot 8 8 arell 81
T3S o SR A& hl HHHA ST | STh! 64 &t TS I qal Bf1 | 1T Brerd 4o <t st 1R fafsrem
I B H I IR F9 W S FH R IS o HH TR TS Il § | I8 JHgH 1 99 © T weTE 9
IR B A1 R | 31ft A 39 Tehelt Jfguar bl SO A & 5 fem ¥ 1 sgen feEm B, aferd e aem f ®
3R TR 7 54, SHF U 7% G & ST ot § 7 gHdia Ifgmar & T S 3a S 5y 33/ W fE
T 39 WX BTEll 71 B ek | 376 3TR <2 SHUtel oA § 1 i Tgi-fomars iR saeFi 1 98 alieh! siF |1 2, Sl
o1 wemE o ganedi iR d=di % Sifgh TR Pl WG Tk |

78 o UY € TS o < o1 gfvehet ©, T Aol ST T@H! =1feq | Skl st of 991 e =ey iR
TRAE THT 1 S S919d el W HegR &1 |

121. TR A o= ©

(1) @ - e (2) HHS - TR (3) TE - 9dH (4) HeE - faEe
122, ‘TS H A R

(1) eTfefrfeEe seefsig (2) erfefrfiEe eiege

(3) UUA SEIFTH (4) TIA seeASiE
123. TN % 3R R el ST Hehdl € for Tamg Taft 2t =nfeq i

(1) S Ul GEhR T | (2) wF A H Afus wE )

(¢) T gfgFaMTaE I (4) WS SHATST P HH B
124. Tafercn @ 92 & 3 § v ufosr § 1 ean am ?

(1) " o=t = <) (2) STEATG ! HEAT HH HI M|

(3)  STEqATCll k! HE&AT 5Igd oIl ST | (4) TR I e Q|
125. TS 9 fan Sord ot weiferd 8M 1 o8 g

(1) I=E (2) HEHNHF B (3) A B (4) THRIHE BT
126. TSTE I S <A ATl RH © :
ORESIED (2) HE (3) = (4)  SATETTIR
127. ‘AFEE’ S H @A R
1 4= 2 = G) =A (4) =
128. TR VIR 99 ¥ IS HRT W G9ad: T 9 GG St | 399 ShiE-1 Hrd gofad & g ?
(1) Terem (2) wEdi-are (3) sTfa=sRr 4) Tafeen
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frAfefaa ey o gt U9 T U9l o 98 /Aaiiieh U faehed ST Ta Shitad | (129-135)

9 331 ® Toh 101 Sh1 IR & |1 98 deTHel Shil SISTeh Tl ST | UHT1 3:7 <k foh 91071 IR o &¢ 311 <ht
T Hfferd 3R rafeerd SR s | 3@ WY df s iR 2 oft =1, afees w107 o1 39 317 fouiw # erdferd =
ST E ® | e ot 31 € a1 § - 9107 Rt wgfed alish ¥ G S Rl X S8 | AN H $H W10 o oA S 6
AT ok 319 €1 g SR BH 3794 W01 b1 UST o1t € Hehd § IR IR B B el siHiEt ot Jehem ot
Fhd T | I8 U0 hael TAR IR 1 & [T el T, T8 T, Ifg TS Y& STEm w1 S <t &l 7 |

129. 3T T hl Hay TR

(1) 9oy (2) e (3) WA & 9@ (4) 3T MR
130. WT9T S <l TR M o A T T

(1) Fm (2) fafecs (3) Toere (4) Toem
131. TR I8 1 3SR &l © ¢

(1) @& (2) @Ry (3) FarEed (4) Edfaq
132. Sied % fere geiferer Tl ©

(1)  9TO1 & H1eA9 § A0 HEAT | (2) 99T SR IR I g BT

(3) U1 SR TR T AHA | (4) Nk HTEAH 9 YIOMAH T |
133. T 9 IR & & 7 § Hfera sik RETEEr

(1) TFafed (2) 3t (3) We-H (4) At

134. T HI HRUF :
(1) 91 o &1 37 foRe # s/qed (2) AN o HIgH § URIRe wied S
(3) T TR I 3fod @A T KT (4) W9 Y I Fga ATHH dqG ST

135. ‘Ffg' ® ‘59’ YOI T W IR I ¢
(1) difg® 2) sifs® () drg® 4) dfs®w

136. ‘TR FEER’ (ZFHINT) FTT 2

(1) 9 e TE | TH 9HT @iy % SR STIAl €9 F8ed |

(2) TF el H UH G Afyen et 1 WA % ®Y H SREE A i e we g €
3) foermera # feret wmnd wert =ifew sw R W foran ifq § wmn’

4)

4)  wrisd o freror St % SRE T 9T | TR W1 H SRR w § Hefd B

137. SISO FH 18 ?
(1) SAHIOIH Tl o R H F |
(2) SAHUE Tl | Ffe T TN HAT GG |
(3) fordl =R 9 W HE wE fRA S, a8 ST
(4) ToREt 9T % Teq T ITART HEAT S |
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138.

139.

140.

141.

142.

143.

el D i STEAUhT Igreet TYG L & fw o=, ©ie, fesd, T0a el § et STt 81 3= famme
g T | SR g arelt axgaii ot foeror form =medt €1 s feror & g # 57 awgaii ot o’ e 2
(1) aredfaes aequ (Tafern) (2) @M YHM F oo

(3) arfoe e % FE (4) Toreror |

frafafed & § sF-dt fafy v siferm & o fea IR v & sttv=nfies ored & frgqomn’ 6 steavas
®Y ! TG ST LA © 2

(1) ST e e (2) AR TR fafy

() Fa wHifasws gfafswan (4) FA ER

o fou T g9 w1 U8 | van Y TR g ueE fRE e (2TEdies) 1§ ?

*' B1et ANfCThT T HEHT e & TG, ST IHF @I IR HiSAEAT 1 THA HIA Aol TIeH hl Hegd fha |
379 3H TAShI I ITh! GUHT o T 9o feren =i | a1 120 wsal # o+ faf@w )"’

1) < SHE T

(2) TS 1 IR S el Fe (TR

(3) famst deet g

(4) SRS 991

Frefafed & 9 a3 o 999 § HH-91 FeF @@ ¢ 7

(1) it o= 7o foemeredt fren o7 T Y o H ¥ d € iR guel g # 7 9 W HH QA 3R
e e € |

2) |l = AU foenerht fonen vew amn RS § UE wa € IR el g R a9 w91 SR
ToTd Hied |

(3) |l == 3ot foremerdt foran AT/ =R T T B 9E A § SR TEA g A T HH A HH QA
3R 9reTd e ¥ |

(4) |l = 7o foramert forem ST ArEem /B Bt uT W E A § IR gHel gl A q% HH 9 A
T AR T Hed

ot forem W Ut forem ifq 2020 & Hed § HF-T1 HUT TE TG © 2
(1) T g o STl HIGHTT/BR Y | AT ST |

(2) T g3 STl WRd TSl s ST |

(3) TN I o ST ATk T H SUSH W AT ST |

(4) TN A 6 ST WS Ao A1 ST |

T ST o SR § hiA-H FUE T S 2

(1) TR/ 9aH T <k 1 1 5 Ao ST | i o -o Tel § |
(2) EESIA/YH {1 1 I f5dd Ao <k A Sl wHidd w2
(3) T W STfRT SR gt s ST 9 T8 § S-S B |

(4) S/ TUH AT 61 JH Fodia o 6 sifenm | ety <o €
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144.

145.

146.

147.

148.

149.

150.

st fomm i e # franefl wan § fou < ®@ soqea ¥ e fog avem &t IR &1 w® € iR @&
fog fom W1 39 Fwra =1 /0 il ?
(1) a0 e 2) <A HEE (3) TAMHE HIA (4) TEHIA HIEA

frefafad § 9 SF-9 ufshard s o o8t WE ¥ fora diem § e § 2

(1) ¥E Hed - & fog e it - Ui foa@ T - T0a@ TR w1 - Hued - S| W& ol
2) MY HeH - g fag A T - UEy fee - e - 0@ TR S - AfH WEY <
3) HEE HYH - & fog e T - TUE@ TIR T - Ied for@ 1 - Haied - #Af<m @& ol
)

4) HAFE HYF - TRET TR HET - YEU - GF fog e 3 - U - if<ag WEy <

o~ o~ o~

I AehIeiE v A fafi= R & faweil & fog strervaes won § frquran & Heifua ®

(1) I siaaafas TEme SR (BICS)
(2) FEIYUTHE 9o Fqoran

(3) GIHHS SFRIGHE HoT YT (CALP)
(4)  SfaeaT Fger

el TTd <1 Toreneft Temm T, TS, feet 3R Sfish =R wTid SHar 8 | ¥) | el 98 379 Arar-Tadn & 9
T AT © 1 HATE & T IR 9T siteran § 31 fommera # o &, =i qen TS seran § wife 9
i1 9 s1eATgent 1 € 9T o) & | 359 feufq = form ®9 | ST SITwm ?

(1) s A (Hrs {fim) (2) I Y AR AT (IS 7fem)

(3) ST (i gus) (4) Y (rEfa™e) Jraa

7181 Uk Ut frarfa <& < @ ® ST faenfe= it fawa & wfa wme a9 & fore fava & fauda gt gfiesmmn
 yRfad s S g1 39 ishan gr1 faenfefei # fohae fasma = v fen s wi ©2

(1) wfsRan strenia freomemes (2) HECEHATS HIERdl

(3) HaRal faskmE (4) AR fagerso

e TS i STAMIHT T TS WA o Ui a1l bl o oR St # et § o fenfeldi o1 eamgds
G & folu et § 1 59 o1g 9 fnenfefi st 9R-=R & 9 § %W w0 & fau wadt § % o9& 7 aren
IR R e i il UheH Hol SIE A1 81 | 3 Tfafafy sl 1 Hai ?

(1) oA7=c gac@  (2) WHfesd gao@  (3) F9u &l (4) <EA wH

Aferme wiawer forenferi 1 wmef oA € -

(1) Teadmed =l AA o ey § U S

(2) | FITE & A F FATH TR R AT BT
(3) TSNTA AT <l HIYA o Hed § Ui Al

(4) SAHUIE FH k! HI9F  HeH H Y w1

-00o0-
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SPACE FOR ROUGH WORK / % &t & foq sg
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ferden B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheetis notfolded. Donot | 3 gfiereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 Ryore @ @S| whenelf arua 3W e T
anywhere else except in the specified space in the Answer Sheet. N Samp——

4, I-!andletthe Tes(t Bool:lfet :pd Answerlsgeetté/viﬂ:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
circumstances (except for discrepancy in Test Booklet Code or Number 55 : 3 5 . . .
and Answer Sheet Code or Number), another set will be provided. ?ﬂa;%a%ﬁﬁ;% Eﬁ‘rq?;agr‘im) Egaﬁ?ﬁs?q ﬂj i maﬁ air

S JRABT JUcfed] GeRIp]|

5. The candidates will write the correct Test Booklet Code and Number as et
given in the Test Booklet/Answer Sheet in the Attendance Sheet. 5, e oReEsR T & R U e O S

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. ' yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be leftincomplete and it should not be different B 5 -
from the information given in the Admit Card. 6. %MRW q;aﬁ B2 3y El;ﬁ Wﬁﬂ;ﬂ;fg # | ; E; Y ajg
Yl R o Blg 3R Jg Y-l el A [Hesl

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. qﬁa ° ;E’ﬁ ng siq T i{;ﬁ Waﬂa\q 19T G ST 2

&I 35@' GITEII, URIST Tg afeal

10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !

. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should not leave the Examination Hall/Room without handing iﬁ é B | K g § wi
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gacalicla URGed &l Juair afeid &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & forp gdtemelf uderor wwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. el

15. On completion of the test, the candidate must hand over the Answer | 4 5. UdeT JeU A R, wdemeff ara/mer Eﬂgﬁ A qgf I 73 erdlere
Sheet to the Invigilator in the Hall / Room. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥/
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